Year 8

Cycle 2
Assessments

Revision
Support

In this booklet, you will find tips for parents, knowledge
organisers and ‘what | need to know’ checklists for each subject.

Use these to support your preparation for assessments. These
begin on Monday 11 February 2019 and will take place in
lesson time.



Five simple revision tips for parents

Exam season is fast approaching and you're probably feeling the pressure of
trying to help your child prepare. We’'ve compiled some revision tips to help you
banish the stress of exam prep.

1- Establish effective study habits

Help your child create a study plan early on (this will make you aware of their exam
dates too), making sure it is realistic and achievable to avoid de-motivation.
Planning in advance will also help avoid ineffective cramming sessions further
down the line. Encourage them to use a weekly planner so they are accountable
for their work. Don’t micro-manage. Provide extra support if they need or ask for it.

2- Take a break!

Don’t try and force them to work for hours at a time. Their concentration span is
limited and it will hinder the success of their revision if they are trying to do
mammoth sessions. Suggest the use of a timer as well as regularly changing
revision subject, to avoid getting stuck in a rut. Check out our Pomodoro video as
it's a really simple way for students to manage their time effectively:

https://youtu.be/RIidoiSrpB0



https://youtu.be/RlidoiSrpB0
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3- Practise past papers

Past papers encourage your child to think contextually, rather than just trying to
memorise an entire text book. You can help by creating a realistic, timed, exam
scenario when they are completing practice papers .This will encourage them to get
used to working under pressure and develop exam strategies, helping them feel less
anxious on the day.

4- Watch for signs of frustration

It's important that your child is in the right frame of mind for revising. If they are
struggling over something in particular, it may be best to park it for the night,
reassess the next day and break it down into manageable chunks. Look out for
stress and worry over exams that have been and gone. Be sure to ask them how
their exam went, then shift their focus to what’s coming up next and encourage them
to say in a positive mind-set. It is important to remember the role of a healthy diet,
plenty of water and exercise in keeping a healthy outlook on exams.

5- Ask for help

If you are working closely with your child to help them study, but feel the work is
beyond your own skill set, it may be worth seeing if there is another family member
who can assist. Or, if you feel this may be a long term issue and your child needs extra
support, it may be worth hiring a private tutor to help improve your child’s
understanding of the subject. Alternatively there is lots of free support online, offering
revision help for a huge range of subjects. Don’t forget- teachers are just at the end of
a phonecall and are ALWAYS happy to help!




Use these knowledge organisers to revise
for your assessment. Try:

practice questions;

getting someone to quiz you;
making flashcards to use when
quizzing;

graphic organisers (see right);
the Cornell method (see right);
talk for a minute on the given
term/topic — no pauses, no
hesitations. Slips or repetitions or
micro pauses lose a ‘life’ — three
strikes and you’re out!

Ask someone at home to use the
‘what | need to know’ checklists to
test you on what you have learned.

Sequential Thinking Model

J
Thinking at Right Angles

Mind Map

The Cornell Method
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Weekly Revision Timetable

Name:

Day

9:00 -
10:00

10:00 -
11:00

11:00 -
12:00

12:00 -
1:00

1:00 -
2:00

2:00 -
3:00

3:00 -
4:00

5:00 -
6:00

6:00 -
7:00

7:00 -
8:00

8:00-
9:00

9:00 -
10:00

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

***Remember: make sure you give yourself breaks and allow time to relax and do the things your want to do and enjoy doing.
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Year 8 English

Revision

What | Must Know

| understand the plot of the play.

| understand the characters in the play.

| understand the main themes of the
play.

| understand the context of the playl.

| can recall key quotes and understand
how they demonstrate my
understanding of character, theme and
context.

| know and understand key vocabulary




Year 8 Romeo & Juliet Knowledge Organiser

S

Context

Plot

Duelling and the concept of honour: Maintaining the honour of your family
name was hugely important at the time. If you were challenged to a duel and
you refused, you would be deemed a coward, thus damaging your honour and
the status of your family. Most Elizabethan gentlemen carried swords in public
and many did fight in the streets.

Courtly Love & cures for lovesickness: common in medieval literature where a
knight was consumed with passion for an unattainable noblewoman; Romeo
fits this perfectly. Elizabethan doctors saw unrequited love or desire as a
disease, a type of melancholy sometimes called lovesickness. They tried
various cures and sometimes sent patients to church to confess to a priest.
They believed that if lovesickness was left untreated, it could lead to madness.

In Italy, two noble families (the Montagues & Capulets) zre feuding yet again.
Romeo is in love with Rosaling, who rejects his love. As 3 result, he is
depressed. To cure Romeo of his lovesickness, Benvolio persuades him to
attend a masked ball at the Capulets, where he might see prettier girls and
therefore forget sbout Rosaline. Romeo meets Juliet and they instantly fall in
love with one another. Tybalt hears Romeao’s voice at the ball and is furious that
a Montague has dared to attend.

ACT

Romeo stands beneath Juliet’s balcony. He sees Juliet leaning over the railing,
ACT | hezrs her calling out his name & wishes that he wasnt a Montague. He reveals

2 his presence & they resolve, after a passionate exchange, to be married
secretly.

Role of women in a patriarchal society: Elizabethan England was a society
controlled by men. Women were seen as the weaker sex & were expected to
be meek & mild, and most importantly, obedient to their fathers & later their
husbands.

Arranged marriages: Marriages amongst the wealthy were arranged by
parents in order to match or improve social standing. However, in practice,

Romeo returns from his recent marriage to Juliet and encounters Tybalt, who
challenges Romeo to a duel. Unbeknownst to all present, Tybalt is now
ACT | Romeo's kinsmzan by marriage so Romeo refuses. Mercutio is livid with

3 Romeao's refusal and fights with Tybalt who underhandedly kills Mercutio.
Furious by the death of his friend, Romeo kills Tybalt and takes shelter in the
Friar's cell. The Prince exiles Romeo for his part in the fray.

In despair, Juliet seeks Friar Lawrence’s advice. He gives her a sleeping potion,
which for a time will cause her to appear dead. Thus, on the day of her

parents did try to choose someone their child liked and was happy to marry. >Mq supposed marriage to Paris, she will be carried to the family vault. By the time
Secret marriages such as that between the young Romec and Juliet would she awakens, Romeo will be summoned to the vault and take her away to
have been both illegal and shocking. Mantua.
The Italian setting of the play: The play is set in Italy, which was known for its The Friar's letter fails to reach Romeo. When he hears of Juliet's death, Romeo
warring states. It is also a Catholic country; religion was extremely important Act | Procuresa deadly poison from an apothecary and secretly retums to Verona to
and marriage vows were seen as sacred — once made, they could not be o say his last farewell to his deceased E_W and die by her side. Edm: Juliet :
broker; awakens from her deep sleep, she realises Romeao's error and kills herself with

: his dagger. The Czpulets and Montague decide to reconcile as a result of the

deaths of their children.
Key Spellings
Romeo Juliet Tybalt Mercutio Benvolio Montague Capulet Verona
Shakespeare Scene Viclence Tragic lambic Foreshadowed Monologue Elizabethan
Pentameter
Patriarch : imi i
archy Patriarchal Oxymoron Metaphor Simile Society Bravado Feud
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Significant characters
ROV A young Montague. Not interested in violence, only love. He's passionate
and sensitive yet also impulsive.
Juliet A young Capulet. Naive and sheltered at the beginning, develops into a
strong character. Grounded.
Friar Friend to both Romeo and Juliet. Civic-minded. Also expert with potions &
Lawrence herbs.
N Like 2 mother to Juliet / confidante. Earthy/sexuzl. Often says inapproprizte
urse things.
Capulet Juliet's father. Prudent and caring but can fly into rage if respect is lacking.
Mercutio Romeao’s close friend. Witty, bawdy, cynical and a hot-headed character.
Benivolo moBm.o 5 cousin. Tries to keep the peace 2nd keep Romeo’s mind off of
Rosaline.
Pri Leader of Verona, concerned with keeping order between the warring
T families.
Tybalt Juliet's cousin. Obsessed by family honour; quick to draw his sword. He
despizes all Montagues.

Key themes

Dramatic devices
Dramatic lrony The audience know something that the people on stage don’t.
For example: Benvolio and Mercutio think Romeo is pining for
Rosaline. The audience know that he is pining for Juliet.
Soliloquy Where the character speaks their thoughts out aloud to itself
regardless of who can hear.
Aside A remark or passage in a play that is intended to be heard by the
audience but not the characters in the play.
Foreshadowing A warning or hint at a future event in the play.
Monologue A long speech by a character in a play
Tragedy A play dealing with tragic events and having an unhappy ending,
especially one concerning the downfall of the main character.
Other key terms
Oxymoron A combination of words that have opposite or very
different meanings
Metaphor A thing regarded as represantative or symbolic of

something else.

CONFLICT: Conflict is one of the key driving forces in the play and it occurs between a
range of characters: between warring households; within families; within friendship
groups; 2nd between members of the communities. This conflict results in violence;

lambic pentameter

A line of verse with five metrical feet, each consisting of
one short {or unstressed) syllable followed by one long
(or stressed) syllzble, for example Two households,
both alike in dignity.

violence opens the play in scene one and it also concludes the play with the deaths of Imagery To use figurative language (similes, metaphors and
the two lovers. [tis worth noting that the motif of light vs dark is zlso linked to many of personification) to represent objects, actions and ideas
these themes. in such a way that it appeals to our physical sensas.
LOVE: The love Romeo and Juliet share is beautiful, passionate, exhilarating, Tragedy A play dealing with tragic events and having an unhappy
transformative and they are willing to give everything for it. But it is also chaotic and ending, especially one concerning the downfall of the
destructive, bringing death to friends, family and to themselves. It is worth noting that main character.
the motif of light vs dark is also linked to many of these themes. > 2

Prologue PROLOGUE: 2 separate introductory section of 2

FATE: No matter how much they love each other or what plans they make, their
struggles against fate only help fulfil it. But defeating or escaping fate is not the point.
No one escapes fate. It is Romeo and Juliet's determination to struggle against fate in
order to be together, whether in life or death, that shows the fiery passion of their love
and which mzkes that love eternzl.

literary, dramatic, or musical work. In Romeo and Juliet,
the prologue summarises the events of the play,
informing the zudience that the protagonists (main
characters) ‘take their life’ at the end. This then colours
the audience’s view from the start, 2s they know that
the play is a tragedy.
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Year 8 Maths

Revision

What | Must Know

\

"

4

Express one quantity as a percentage of another.
Compare two quantities using percentages and work
with percentages greater than 100%.

Interpret fractions and percentages as operators with
and without a calc.

Percentage change, percentage of amount, increase
and decrease - with and without a calc.

Original value problems and simple interest in
financial maths.

Substitute numerical values into formulae and
expressions, including scientific formulae. Include all
prior learning (fractions, decimals and negatives).

Simplifying expressions involving sums. Indices laws.
Simplifying expressions involving products and
powers. Apply to perimeter of 2D shapes.

Expanding a single bracket. Expanding two single
brackets and simplify. Apply to area on 2D shapes.

Factorising a single bracket. Expand two brackets.

Solving linear equations including brackets and
fractions.

Rearranging where the subject appears once. Solving
linear equations where rearranging is needed.
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Year 8 Maths

Revision
Topic/Skill | Defmition/Tips Example
. Percentage | Number of parts per 100. 319% means %‘o
(2 Fmdmg | To fmd 10%, divide by 10 10% of £36 = 36+10=£3.60
10%

3 Fudmg 1%

To fmd 1%, divide by 100

1% of £8 = §+100=£0.08

equivalent fractions.

When the denommator doesn’t gom to
100, use 2 calculator and multiply the
fraction by 100,

4. Percentage Dif ference 005 A games console 15 bought for £200
Change Original B and sold for £230.
% change = == X 100 = 25%

3. Fractions to | Divide the numerator by the B 32820375
Decmmals denominator usmg the bus stop method. 8~ =

6. Decmuals to | Write as a fraction over 10, 100 or 1000 036 2 2
Fractions and simplify. TUT1007 25

1. Percentages | Divide by 100 8% =8+100=0.08
to Decimals
8. Decmals to | Multiply by 100 0.4=0.4 x100%=40%
Percentages

9. Fractions to | Percentage 15 just a fraction out of 100. 2 12
Percentages | Make the denominator 100 using 25 100" =~

B
— X 100=52.9%
17




TopicSkill | Definition/Tips Example

|, Increase or | Non-calculator: Find the percentage and | Increase 300 by 20% (Non Cale):
Decrease by | add or subtract it from the original 10% of 500=30

Percentage | amount 50 20% of 300 =100

Calculator: Find the percentage multiphier
and multiply.

300+ 100 =600

Decrease 800 by 17% (Calo):
100%-17%=83%

83% = 100=083
0.83 x 800 = 664

J, Percentage

Mt

The number you multiply 2 quantty by to
increase or decrease it by 2 percentage.

The multpher for mereasmg by 12% i
112

The multiplier for decreasmg by 12% 15
0.88

The multipler for mereasmg by 100%

2,

3.Reverse | Fd the corvect percentage given in the | A jumper waspriced at £48.60 after 2
Petcentage qgomﬁon,ﬁxen work backwards tofind | 10% reduction. Fd tts onigmal price.
100%
100% - 10%=9%0%
Look out for words Iike ‘before’ or
‘origial’ %0%=£43.60
%=10.4
100% = £34
4. Smple [ Intetest calculated 2s 2 percentage of the | £1000 mvested for 3 years at 10%
Interest orginal amount smuple mterest

10% of £1000=£100

Interest= 3 X £100 = £300




TopicSkill | Definition/Tips Example
I Expression | A mathematical statement written usmg | 3x+2 or Jy°
symbols, numbers or leters,
2.Equaton | A statement showmg that two expressions | 2y-17=13
are equal
3.0dentity | Anequation that 1s true for all values of | 2x=y3y
the varizbles
An identity uses the symbol: =
4 Fomula | Showsthe relationship between twoor | Areaof 2 rectangle =length x width or
more variables ALyl
). Smuplfymg | Collect ‘Hke terms’, 20+ 3y+4x-5y+3
Expresstons o =br-2y43
Be careful with negatives. 4= r 2 -1=50 -1 43
" aud ¥ are ot ke terms.
6.xtmesx | Theansweris x"not2x quarmeg is multiplymg by tself, not by
h)
7.0XpXp | Theaswerss p not3p [Fp=), then p=2i0x2=8, not 23=6
Bp+p+p | Theamswerssdpmotp® [fp=2, then 2+2+2=6, not 2° = 8
O.Expad | Toexpand 2bracket multiply each term in 3(m+7)=3r+21
the bracket by the expresston outside the
bracket
10. Factonise | The reverse of expanding. 61 = 15= 3(2x~5), where 3 15 the
Factorismg s writmg an expresstonas 2 | common factor,
product of terms by ‘taking out’ a

common factor.
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Year 8 Science
Revision

What | Must Know-
Biology

Describe: Graphs showing
limiting factors of
photosynthesis.

Identify: Mineral deficiencies in
plants.

Explain: The role of the
stomata.

Define: Photosynthesis.

Calculate: Rates of
photosynthesis

Label: A cross-section of a leaf’s
structure.

State: The difference between
aerobic and anaerobic
respiration.




Year 8 Biology Knowledge Organiser
Topic 1: Health and Lifestyle

Key Terms

Definitions

Kilojoules (kJ)

A unit used to measure energy in foods

Deficiency A disease caused by the lack of a nutrient
KPI 1: Describe the requirements for a healthy human diet. Disease
There are 7 major food groups, a balanced diet will contain the correct Energy in Food ey = anergy ot

amounts of all of these for the person’s needs, e.g. someone who does a
lot of exercise will need a lot more carbohydrate than someone who does
not. The seven food groups are summarised below:

The energy in food is often measured in kJ, | e

the amount of energy you need depends
on your lifestyle. If there is an imbalance
you will put on or loose weight.

anefgy in > enargy out
weaight Increcsas

energy In < energy out
weight decreases

Loy

» oot Yo

» Grecher hon
< ost Ihon

Food Tests

There are some simple chemical tests that can be carried
out, to see what food groups are present. If iodine is added
to starch it will turn blue/black. If Benedict's solution is
added to a sugar it will go orange. To test for fat, mix the
substance with a small amount of ethanol and distilled
water, if a milky white emulsion appears, then fat is
present.

Food Group Example Function
Protein Fish, meat, For growth and repair.
dairy
Fat Butter, oils, To provide energy. Fat provides a long term
nuts store of energy. It also provides insulation for
the body.
Carbohydrate | Bread, pasta, To provide energy.
sugar
Fibre Vegetables, To help food move through the gut.
Bran
Minerals Dairy Required in small amounts to remain
(calcium) healthy, for example calcium is crucial for
healthy teeth and bones.
Vitamins Oranges Required in small amounts to remain
(vitamin C), healthy, for example vitamin D is needed to
Carrots keep teeth and bones healthy.
(vitamin A)
Water Water, fruit Needed to form the cytoplasm of the cells
juice, milk and other fluids.

Deficiency Diseases

Deficiency diseases are when the body does not get enough of a certain
nutrient. For example a lack of vitamin C can lead to scurvy which affects
the gums. A lack of vitamin D can lead to rickets which affects the bones.

Measuring Energy in Food

The energy in different foods can be measured using a
simple experiment. If the food is set on fire, it can be used
to heat up water and by measuring the temperature change,
you should be able to see which foods cause the greatest
rise in temperature and have given out the most energy.

Buming food
held on mounted
needle




Year 8 Biology Knowledge Organiser
Topic 1: Health and Lifestyle

KP1 2: Describe digestion at the molecular level.

Food is digested in the digestive system, this is an organ system. You
should be able to name all parts of diagram below:

* The mouth has teeth that mechanically
digest the food, it also has a salivary gland
that releases enzymes to break the food
down.

* The oesophagus is a muscular tube that
pushes the food into the stomach

* The stomach churns the food up, while (R
also adding acid and enzymes to break the
food down. Smail

intostine

* Inthe small intestine, food is broken down
further and is absorbed thorough the walls of
the intestine into the blood stream.

* The large intestine absorbs any remaining water

* Finally the food passes through the anus as faeces

Rectum

/
Anus = -

KPI 3: Realise the possible ill-effects of recreational drugs

Key Terms Definitions

Enzymes Protein molecules that speed up chemical
reactions

Digestive The organ system that breaks down food into

System small molecules

Mechanical When large pieces of food are broken down

Digestion into smaller ones (e.g. by chewing)

Chemical When food is broken down into small soluble

Digestion chemicals, enzymes help with this

Enzymes

Enzymes help to break down larger food molecules into
smaller ones, so that they can be absorbed through the walls
of our small intestines, into our blood stream.

Proteins, carbohydrates and fats each have their own enzyme
that breaks them down.

Q.Q.Q._b._ o ,.w%&, ¢ _¢ o;.ee s 8
0. Q @ c 9 b..v@ @ o =)
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Drugs can be divided up into two types, medicinal which are prescribed to treat an illness and recreational, which are taken for pleasure.

Some recreational drugs are legal and others are illegal.

Type of drug Effect on the body Example
Stimulant Speeds up reactions Caffeine (legal) Cocaine (illegal)
Depressant Slows down reactions Alcohol (legal) Cannabis (illegal)
Painkiller Stops the feeling of pain Morphine (legal) Heroin (illegal)




Year 8 Biology Knowledge Organiser
Topic 4: Adaptations

KPI 1: Describe the factors effecting the abundance and distribution of
organisms

Adaptation

* An animal must be able to find food, breed and navigate its way around
its habitat if it is to survive.

* Every animal has evolved gradually over millions of years to become well
suited, or adapted, to its habitat.

* These adaptations are specific to the environment of the animal and are
essential for survival.

* Here are some examples:

Snow Leopard

- Big paws to evenly spread weight and help
with walking through snow

- Thick fur for insulation

Siamang Gibbon
- Long arms and fingers for swinging through

trees and gripping branches
- Forward facing eyes for judging distances

Bactrian Camel
- Fat stored in humps to convert to water

- Wide feet to even spread weight and
prevent sinking into the sand

Humboldt Penguin

- Streamlined bodies to help with swimming

- Serrated beaks to help with catching and
swallowing slippery fish

Key Terms Definitions

Adaptation Something which helps an organism to survive in
their environment, e.g, humps for storing water

Habitat The environment that an organism lives in

Competition When animals or plants compete for limited
resources

Intraspecific Competition between individuals of the same

competition species

Interspecific Competition between individuals of different

competition species

Competition

* Animals and plants have to compete for the limited
resources available to them
* The animals that are best adapted will win and survive

* There are two types of competition
* Interspecific — between individuals of different species
* Intraspecific — between individuals of the same species

Com ion in animals

* Animals compete for:

Food Water

Mates




Year 8 Biology Knowledge Organiser
Topic 4: Adaptations

KPI 1: Describe the factors effecting the abundance and
distribution of organisms

Competition in plants

* Plants compete for:

Nutrients Water

Space Sunlight

Key Terms Definitions

Interdependent If the number of one species changes it will affect

species the numbers of the other species

Variation Differences between living organisms of the same
species

Continuous Differences that can take any value, e.g. height

variation

Discontinuous Differences that can only take set values, e.g. blood

variation groups

Inherited Variation in an individual that is caused by genetics

variation

Environmental Variation in an individual that is caused by the

variation environment

KPI 2: Explain how characteristics can be inherited by individuals

Predator-prey relationships
* Numbers of predators and prey are interdependent on each

other
* If the numbers of prey drop then the numbers of predators
will also drop after a while

Prey

\ Predator

Number

Causes of variation

* The differences between living things of the same species is known
as variation.

* Variation can be caused by differences in genes (inherited variation)
e.g. eye colour, or differences in the environment e.g. language.

* Some variation is caused by a mixture of both genes and
environment (e.g. weight and height).

Types of variation

* Continuous variation is variation that can take any value (e.g. height
or weight)

* Continuous variation should always be shown on a line graph

* Discontinuous variation is variation that can only take set values (e.g.
shoe size or blood group)

* Discontinuous variation should always be shown on a bar chart




Year 8 Biology Knowledge Organiser
Topic 4: Adaptations

KPI 2: Explain how characteristics can be inherited by individuals

DNA

* DNA contains all the instructions needed to make an
organism

* Everybody has unique DNA (apart from identical twins)

* DNA is found in the nucleus of every cell

* The DNA molecules are twisted and folded into tiny
structures called chromosomes

* DNA has a double helix structure - this means it is twisted
twice

* A short length of chromosome which codes for a
characteristic is called a gene

* Genes contain the information to produce proteins

* DNA and therefore genes are passed on from parents to
their offspring

* Alleles are different forms of the same gene

Key Terms Definitions

DNA The molecule containing all the instructions to make
an organism

Chromosome A structure containing DNA found inside the nucleus
of a cell

Gene A section of DNA coding for a characteristic

Allele A form of a gene

Dominant An allele that is always expressed (capital letter)

Recessive An allele that is only expressed if there is no
dominant allele present (lower case letter)

Alleles can be dominant or recessive

* Dominant alleles will always be expressed (the characteristic they code
for will be seen in the individual), they are given a capital letter

* Recessive alleles will only be expressed if the dominant allele is not
present (the characteristic they code for will only be seen if the
dominant characteristic is not present), they are given a lower case
letter

* Punnet squares can be used to show how alleles are inherited:

Inheritance

* Bis the dominant allele for brown eyes
Genes from mother * Bis the recessive allele for blue eyes
* Offspring BB and Bb would have brown

U

= & b eyes as they have the dominant allele
..m. B |BB | Bb * Offspring bb would have blue eyes as

- there is no dominant allele

m b|Bb bb * Thereisa 1in 4 chance of the offspring
& having blue eyes

* Thereisa 3 in 4 chance of the offspring
having brown eyes




Year 8 Biology Knowledge Organiser Noyterms. | Oetiniions
H i volution e changes in organisms seen over long periods
Topic 4: ptations Evoluti The ch i i long period
of time
KPI 3: Outline evolution by natural selection Natural The process that leads to evolution
selection
Evolution Extinction When no individuals of a species survive
; .h.q”m.:ﬁ”_mq” _‘<_mo_*=mm <Mu_ M”M: states that all living organisms evoived Endangered When only small numbers of individuals of a
ot : et species remain and there is a risk the species
* These first simple life forms developed over three billion years ago e A
* The process that leads to evolution is called natural selection. &
Conservation | Work done to try to ensure that a species does
Natural selection not become extinct
* Within a population there are variations between individuals
Extinction

leading to adaptations

* Individuals with the adaptation have an advantage and are more
likely to survive than those without

* The individuals that survive will reproduce and have offspring

* The offspring will inherit the genes for the best adaptations from
their parents

* Over time the population will change towards individuals with the
advantageous adaptation - it will evolve

The Theory of Evolution by Natural Selection

The ndhviduals of a survive longer and
POpUIARION Narve mMarny reproduce mone
characteristics that than others do

© Adaptation The wats
of thase ndviduals that survive
and reproduce will become more
COMIMON In & populaton,

* If all the individuals of a species die then the species would
become extinct
* We know that species have become extinct because of fossil
records of species that no longer exist
* Extinction can be caused by many things including:
* New diseases
* New predators
* Climate change
* Competition

Conservation

* Conservation is anything that is done to try to stop an
endangered species becoming extinct

* Examples of endangered species include the Leatherback Sea
Turtle, Ivory Billed Woodpecker and the Amur Leopard

* Conservation work can include:

Captive breeding

Seed banks

Conservation areas

Nature reserves




Year 8 Science
Revision

What | Must Know-
Chemistry

Describe: Energy level
diagrams.

Identify: Renewable and
Non-renewable fuels.

Explain: Thermal
decomposition.

Define: Chemical reactants and
products.

Define: Exothermic and
Endothermic.

Calculate: Reacting masses.

Label: Balanced symbol
equations.

Label: Energy level diagrams.

State: What is meant by
conservation of mass.




Year 8 Chemistry Knowledge Organiser Koy Rerms Definitions
Topic 3: Periodic Table Atom Contains protons neutrons and electrons, and
makes up all elements

KPI 1: Describe the arrangement of elements in the periodic table. Proton A sub atomic particle with a positive charge
Electron A sub atomic particle with a negative charge

All the different elements are arranged on the periodic table. The 3 y .

elements are arranged in order of increasing atomic number. Neutron A sub atomic particle with a neutral charge

O_= the periodic table, we can see the metal elements and non metal Atomic number | The number of protons in an atom

elements.

S¢ T V Cr Mn|Fe Co| NI

Y Zr Nb Mo Tc |Ru Rh Pd

La/B Ta W Re|Os ¥ Pt

B v [ eemen

The section in the middle of the periodic table is known as the
transition metals.

Structure of the Atom

* An atom is made up of three subatomic particles: protons,
electrons and neutrons.

* Protons and neutrons are found in the nucleus of the atom (in the
centre).

* Electrons are found orbiting the nucleus in shells (also known as
energy levels).

* Protons have a positive charge. g

* Electrons have a negative charge.

* Neutrons have a no charge.

Mendeleev

* Throughout history scientists have tried to classify substances
and many scientists attempted to construct a periodic table.

» Before the knowledge of the atom, scientists arranged the
periodic table by atomic weight and this meant the groups
were not always correct.

* In 1869 Dimitri Mendeleev a Russian scientist, published his
periodic table, it was slightly different to those that had been
before. He still arranged elements by atomic weight but he
also left gaps for where he predicted elements would be.

* He very accurately predicted the properties of elements that
were not discovered until many years later e.g. Gallium.

Atomic Number and Mass Number

This is the total of protons + :mcq°=mE|L 23

-11
Therefore sodium has 11 protons, 11 electrons and 23-11=12 neutrons.

This is the number of protons B

The Modern Periodic Table

The modern periodic table arranges the atoms by increasing
atomic number. There are currently 118 elements with some
being discovered as recently as 2016!




Year 8 Chemistry Knowledge Organiser

Topic 3: Periodic Table

KPI 2: Recognise the main features of the periodic table.

Key Terms | Definitions

Group The vertical groups of elements in the periodic table

Period The horizontal groups of elements in the periodic
table

Groups and Periods

Elements are arranged on the periodic table in groups and
periods. Horizontal rows are called periods and vertical columns

are called groups.

lf Groups 1+.

AR’

Groups are labelled 1-7 from left to right, with last group being
called either group 8 or 0. Elements in the same group have
similar properties, because of this we can make predictions about .

:
222222

trends. See the table below:

Metals and Non-Metals

*  Metals are found on the left hand side of the periodic table,
the majority of elements are metals.

*  When metals react, they lose electrons to form positive ions.

*  Non metals gain electrons to form negative ions.

A’

(
* Properties of metals are, high density, high melting point (except
mercury) and good conductors of heat and electricity.
* Only three metals are magnetic (iron, cobalt and nickel).
Metals react with oxygen to make metal oxides e.g.
Magnesium+ Oxygen => Magnesium Oxide

Physical properties Chemical Properties Equation Trends/Explanation
Group 1 Soft, low density React vigorously with Sodium + Water-> Sodium Hydroxide + Hydrogen More reactive as you go
(Alkali water releasing down, electron further from
metals) hydrogen the nucleus easier to lose
Group 7 Low melting point, React with group 1 Sodium + Chlorine - Sodium Chloride Higher melting point as you
(Halogens) | exist as pair (Cl,) metals to form Sodium Bromide + Chlorine = Sodium Chloride + Bromine go down the group (higher
compounds. Can carry molecular mass). Less
out displacement reactive as you go down
reactions the group.
Group 0 Low melting Unreactive N/A Higher melting point and
(Noble point/boiling point boiling point as you go
Gases) Eight electrons in outer down the group (due to
shell {(except helium) increase ion density)




Definitions

Dissolved in water

Year 8 Chemistry Knowledge Organiser noy Torme
Topic 3: Periodic Table Aqueous
Reactive

KPI 3: Use word equations to explain chemical reactivity in groups 1 and 7.

When an element is more reactive this
means it is going to replace the less
reactive element in a reaction.

We use both word and symbol equations to summarise reactions, when doing this the more reactive element will take the place of the less

reactive element. For example,

Chlorine + Potassium Bromide = Bromine + Potassium Chloride

In this case chlorine is more reactive than bromine, and therefore takes its place in the reaction.

When looking at reactions we also need to include state symbols to explain what is happening to the elements involved in the reaction.

(s) = shows that the element or compound is a solid

() = shows that the element or compound is a liquid

(g)- shows that the element or compound is a gas

(aq)- shows that the element or compound is agueous. This means dissolved in water.

A example of how we show the state symbols is,

Sodium(s) + Water(l) - Sodium Hydroxide(aq) + Hydrogen(g)




. . Key Terms Definitions

Year 8 Chemistry Knowledge Organiser ’

Topic 5: Separation Pure A material that is composed of only one type
of particle.

KPI 1: Describe the difference between pure and impure substances impure A material that is composed of more than one
type of particle.

P Suhistanéas Evaporation A change of state involving a liquid changing
toagas

If you could see the particles in pure water, you would only see water ¢

particles. There would be no other particles. Pure substances can be Distillation A process for separating the parts of a liquid

elements or compounds. Examples of pure substances include gold, solution. The solventis heated and the gas is

oxygen and pure water. collected and cooled.

Filtration The act of pouring a mixture through a mesh,

Impure Substances in attempts to separate the components of

Impure materials may be mixtures of elements, mixtures of compounds, the mixture.

or mixtures o.q m_mqu.;m m.:_a compounds. For mxm&u.@ even S.m most Mixture A material made up of at least two different

pure water will contain dissolved gases from the air. Impuritiesin a pure substances.

substance will affect its properties. For example, they may change its

boiling point Chromatography | A technique used to separate mixtures of

) coloured compounds.

Pure Substances Impure Substances

Mixtures

A mixture contains different substances that are not chemically joined to
each other. For example, a packet of sweets may contain a mixture of
different coloured sweets. The sweets are not joined to each other, so
they can be picked out and put into separate piles.

oo A
e [ Soparotd |

Elements

Elements are made up of one type of atom.

All the elements are found listed in the periodic table - there
are currently 118 of them.

Compounds
Compounds are formed by chemical reactions.

Compounds contain two or more elements that are
chemically joined to each other.
In order to separate the elements in a compound you would
need to carry out another chemical reaction.
Examples of compounds are:

* Carbon dioxide (CO,)

* Water (H,0)




Year 8 Chemistry Knowledge Organiser
Topic 5: Separation

KPI 2: Explain different techniques for separating mixtures

Chromatography

Simple chromatography is carried out on paper. A spot of the mixture is
placed near the bottom of a piece of chromatography paper and the
paper is then placed upright in a suitable solvent, e.g. water. As the
solvent soaks up the paper, it carries the mixtures with it. Different

components of the mixture will move at different rates. This separates
the mixture out.

Pencil kne L, ' ‘ ‘ | Ink or plant dye

Distillation

This is good for separating a liquid from a solution. For example,
water can be separated from salty water by simple distillation.
This method works because the water evaporates from the
solution, but is then cooled and condensed into a separate
container. The salt does not evaporate and so it stays behind.
Distillation can also be used to separate two liquids that have
different boiling points.

Pure water
vapour

Other techniques for separating mixtures Evaporation Filtration

* If you have a solution for example salt water,

you can evaporate the water leaving pure salt.

*  If you have two substances where 1 is - =
magnetic and 1 is not, for example iron and M
sulphur, then a magnet can be used to |
separate the two substances. _

* If you have a mixture of a solid and a liquid
then the mixture can be filtered.

Evaporating basn Av
\.uﬁw

- — _.-..':‘-.
I ~ , 1 :

P .'., Hoat
|




. . Key Terms Definitions

Year 8 Chemistry Knowledge Organiser y

.—.OUmn 5: Separation Solute The substance that dissolves
Solvent The liquid that the solute dissolves in

KPI 3: Explain the process of dissolving including saturation Solution The Sokite dssolved In e Solvent
Solubility How easy it is for a given substance to

Solutions dissolve

' .mw_ﬁ and sugar are soluble in water, this means they dissolve Saturated solution When no more solute can be dissolved into a

in im«m_‘. . : . . solution it is said to be saturated
* Sand is insoluble in water, this means it does not dissolve in

water

* The solute is the substance that dissolves

* The solvent is the liquid the solute dissolves in

* The solution what is produced (the solvent containing the
solute)

Dissolving
* During dissolving the solvent particles surround the solute

particles and move them away so they are spread out in the
solvent

bt ?
Joeo 9
\ J \ J
A B Cc

Saturated solutions

* When a solvent is heated it will dissolve more solute

* When no more solute can be dissolved in the solvent the solution is
saturated

* Mass is always conserved so for example if 5 grams of solute are
dissolved in 100 grams of solvent, the mass of the solution will be
100+5= 105 grams.

Add mom Add moee
copper sulfate copper sulfate

Sstursied copper

Dilute copper Concentrated copper

sulfate solution sty solution sulfate solution




. . Key Terms Definitions
Year 8 Chemistry Knowledge Organiser ’
.—.Ovmn 7: Metals and the Earth Crust Outermost layer of the Earth, relatively thin
and rocky
KPI1: Explain the resources obtained from the Earth and the need for recycling Mantle Layer below the crust, has the properties of a
as the Earth is a source of limited resources. solid but can flow very slowly
The structure of the Earth Outer core _.w<mq cm_o‘.z the mantle, made from liquid
v Do ro nickel and iron
The Earth is almost a sphere and it is split into 4 main layers: Inner core Centremost layer of the Earth, made from
solid nickel and iron
uses Lithosphere Consists of the crust and the outer part of the
Cum cooe mantle
Recycling Converting a waste material into something
that can be reused
Ore Naturally occurring rock from which a useful
material can be extracted
The lithosphere is the relatively cold outer part of the Earth’s structure and it is
broken up into large pieces called tectonic plates. These plates move slowly over Recycling of Aluminium

the mantle.

Volcanoes occur when molten rock pushes up through weaknesses in the crust.
The molten rock cools and solidifies to form igneous rocks, such as basalt,
gabbro, rhyolite and granite.

Recycling

The resources on the Earth are limited, this means they may not last forever. Itis
important that the things we do now do not make things difficult or impossible
for future generations.

Recycling is an important way to help us achieve sustainable development. We
can recycle many resources, including:
* glass

* metal

* paper

Aluminium extraction is expensive because the process needs a lot
of electrical energy. Therefore aluminium is extensively recycled
because less energy is needed to produce recycled aluminium than
to extract aluminium from its ore.

Recycling preserves limited resources and requires less energy, so
it causes less damage to the environment. In addition, the multiple
uses of aluminium mean that soon the demand for the recycled
aluminium will outweigh the need to extract it and therefore less
energy is lost.




Year 8 Chemistry Knowledge Organiser
Topic 7: Metals and the Earth

Key Terms Definitions

KPI2: Explain the composition of the atmosphere and the possible consequences
of anthropogenic climate change.

Carbon cycle A series of processes that moves carbon
through organisms and the atmosphere

The Carbon Cycle
All cells - whether animal, plant or bacteria - contain carbon, because they all

contain proteins, fats and carbohydrates.

Carbon is passed from the atmosphere, as carbon dioxide, to living things, passed

from one organism to the next in complex molecules, and returned to the

atmosphere as carbon dioxide again. This is known as the carbon cycle.

* Step 1: Removing carbon dioxide from the atmosphere
Green plants remove carbon dioxide from the atmosphere
by photosynthesis. The carbon becomes part of complex molecules such
as proteins, fats and carbohydrates in the plants.

* Step 2: Returning carbon dioxide to the atmosphere
Organisms return carbon dioxide to the atmosphere by respiration. It is
not just animals that respire. Plants and microorganisms do, too.

* Step 3: Passing carbon from one organism to the next
When an animal eats a plant, carbon from the plant becomes part of the
fats and proteins in the animal. Microorganisms and some animals feed
on waste material from animals, and the remains of dead animals and
plants. The carbon then becomes part of these microorganisms and
detritus feeders.

"
SunRgns

Photosynthesis A chemical process that uses energy to
produce glucose

Respiration A chemical process that releases energy

Global warming The gradual increase in global temperatures

Global Warming

The extra carbon dioxide increases the greenhouse effect. More
heat is trapped by the atmosphere, causing the planet to become
warmer than it would be naturally. The increase in global
temperature this causes is called global warming.

Global warming is beginning to cause big changes in the
environment. These include:

* ice melting faster

* the oceans warming up

* changes in where different species of plants and animals can live

Other includng
The Earth's atmosphere has Oxygen  Argon -0.9%

remained much the same for ﬁ - 00W%
the past 200 million years. The
pie chart shows the proportions
of the main gases in the
atmosphere.

Natrogen




Year 8 Chemistry Knowledge Organiser
Topic 7: Metals and the Earth

KPI3: Explain how the reactivity of a metal affects the way it is extracted.

Reactions of Metals
Acids react with most metals and a salt and hydrogen gas are produced. This is
the general word equation for the reaction:

metal + acid - salt + hydrogen

The salt produced depends upon the metal and the acid. Here are two examples:
zinc + sulphuric acid - zinc sulphate + hydrogen
magnesium + hydrochloric acid - magnesium chloride + hydrogen

Displacement reactions involve a metal and a compound of a different metal. In
a displacement reaction a more reactive metal will displace a less reactive metal
from its compounds. Displacement reactions are easily seen when a salt of the
less reactive metal is in the solution. During the reaction:

* the more reactive metal gradually disappears as it forms a solution
* the less reactive metal coats the surface of the more reactive metal

Testing for different Gases

You need to know the following tests:

Hydrogen

A lighted wooden splint makes a popping sound in a test tube of hydrogen.
Oxygen

A glowing wooden splint relights in a test tube of oxygen.

Carbon dioxide

Bubble the test gas through limewater - calcium hydroxide solution. Carbon
dioxide turns limewater cloudy white.

Ammonia

Ammonia has a characteristic sharp, choking smell. It also makes damp red
litmus paper turn blue. Ammonia forms a white smoke of ammonium chloride
when hydrogen chloride gas, from concentrated hydrochloric acid, is held near it.
Chlorine

Chlorine has a characteristic sharp, choking smell. It also makes damp blue litmus
paper turn red, and then bleaches it white. Chlorine makes damp starch-iodide
paper turn blue-black.

Key Terms Definitions

Displacement Reaction where a more reactive substance

reaction will take the place of a less reactive substance
in a compound

Electrolysis The separation of a compound using an
electrical current

Reduction Reaction where oxygen is removed from a
substance. It also means a gain in electrons.

The Reactivity Series

In a reactivity series, the most reactive
element is placed at the top and the least
reactive element at the bottom. More
reactive metals have a greater tendency
to lose electrons and form positive ions.

Observations of the way that these
elements react with water, acids and
steam enable us to put them into this series.

Metals are very useful. A metal ore is a
rock containing a metal, or a metal
compound, in a high enough concentration

Potassium
Sodium
Lithium
Calcium
Magnesium

Aluminium

Increasing
reactivity

Carbon
Zinc

fron

Hydrogen

to make it economic to extract the metal.

The method used to extract metals from the ore in which they are
found depends on their reactivity.

For example, reactive metals such as aluminium are extracted by
electrolysis, while a less-reactive metal such as iron may be
extracted by reduction with carbon or carbon monoxide.

Thus the method of extraction of a metal from its ore depends on
the metal's position in the reactivity series.




Year 8 Science
Revision

What | Must Know-
Physics

Describe: Graphs showing the
extension of a spring (Hooke’s
Law)

Identify: Contact and
non-contact forces.

Explain: Drag and friction.

Define: Equilibrium.

Calculate: Moments on a
see-saw.

Calculate: Pressure in liquids
and gases.

Label: Force diagrams.

State: Centre of mass.
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Year 8 Science
Revision

Equations to learn in this topic:

Aerobic respiration
Glucose + Oxygen Carbon Dioxide + Water (+ energy)
(reactants) (products)

Anaerobic respiration
Glucose Lactic Acid (+ energy)

Anaerobic respiration (in plants and microorganisms)

Glucose Ethanol + Carbon Dioxide (+ energy)
Photosynthesis
Carbon Dioxide + Water Glucose + Oxygen

Combustion

Pressure

Methane + Oxygen Carbon Dioxide + Water

Moments

Moments = Force x Distance from the pivot

Pressure = Force/Area
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Year 8 Physics Knowledge Organiser -

H P - Potential The difference in energy between two points in an electric
Topic 2: Electricity and Magnetism vt e
KPI 1: Compare current and static electricity and explain current Current The number of electrons flowing past a point in 1 second
electricity in terms of current, voltage and resistance. Resistance Something that resists the flow of an electric charge
Some particles are electrically charged e.g. electrons, these can Electron A charged particle which flows in an electric circuit
ﬁzmqmﬁo._‘m carry an electric charge. There are two types of Conductor A material which allows the flow of electric charge
electricity
1. Static Electricity Insulator A material that slows the flow of electric charge
2. Current Electricity
In static electricity, when two insulators are rubbed together, Current Electricity

electrons are transferred, causing an electric charge to build up.

When this happens one object has a positive charge and one will
have a negative charge, like charges repel and opposite charges
attract. |

HDE

Current electricity occurs in conductors, for example metals, where
the electrons can flow. Electric current is how many electrons are
flowing in one second measured in Amps (A). For electric current to
flow, we require a complete circuit.

— o — . % -

;
_

The potential difference in an electric circuit is the difference in
energy between two different parts of the circuit. This is measured in
volts (V). Sometimes people call potential difference voltage and it is
still measured in volts.

Resistance in an electric circuit is anything which slows the flow of
electric charge, resistance is measure in Ohms ( Q).

Circuit Symbols

When drawing an electric circuit, we use different symbols to represent different components, the symbols you need to memorise are:

|0\0 It __.._- () — \!/
1 1 I o/ S o/




Year 8 Physics Knowledge Organiser
Topic 2: Electricity and Magnetism

KPI 2: Compare current and voltage in series and parallel circuits.

Circuits can be connected in two ways:

1. Series Circuits

2. Parallel Circuits

In a series circuit all of the components are in the same loop, below is an
example of two lamps in a series circuit. If either of the lamps were to
break the circuit would not be complete and the light bulb would go out.

The current is the same at any point in a series circuit as current is always
conserved in a circuit. "

Do o)

A
& ®

®

Measuring Current and Voltage

ampere, A voit, vV

Measuring device Ammeter in series

Voltmeter in paraliel

Circuit symbol of measuring

device

Key Terms Definitions

Series Circuit | A circuit where all the components are in the
same loop.

Parallel A circuit where the components are in

Circuit different loops in the circuit.

Ammeter An electrical component that measures the
size of electric current, it is connected in
series in a circuit.

Voltmeter An electrical component that measures the
size of the potential difference, it is
connected in parallel.

Parallel Circuits

In a parallel circuit components are in more than one loop.
Lights in a house are connected in parallel, when one light
bulb breaks the whole circuit is not broken so the other light
bulb will stay alight.

i SN

S ®

In a parallel circuit the current splits at
junctions, see the example. The current
on the different branches of the circuit
must add up to the total current.




Year 8 Physics Knowledge Organiser
Topic 2: Electricity and Magnetism

Key Terms Definitions

Ohm’s Law
Current, voltage and resistance are all linked by Ohm’s Law, it states that:
Resistance = Voltage+Current or R=V+I

Ohm’s Law A mathematical law that links current,

voltage and resistance

Electromagnet | A magnet created by the flow of electricity

KPI 3: Explain the difference between bar magnets and electromagnets.

Bar Magnets
Bar magnets have two poles, a North pole (N) and a South pole (S),

opposite poles attract and like poles repel.

Magnets create magnetic fields. These cannot be seen. They fill the space
around a magnet where the magnetic forces work, where they can attract
or repel magnetic materials.

Although we cannot see magnetic fields, we can detect them using iron
filings. The tiny pieces of iron line up in a magnetic field. We can draw
simple magnetic field line diagrams to represent this. In the diagram, note
that:

* field lines have arrows on them

* field lines come out of Nand gointo S

* field lines are more concentrated at the poles.

The magnetic field is strongest at the poles, where the field lines are
most concentrated. ‘_ 8

The Earth has a magnetic field because the a .‘ \
core rotates, it acts like a giant bar magnet. -

in a wire

Magnetic Field | The area around a magnet, where the
magnetic field acts

Electromagnets

When an electric current flows through a wire, it creates a
magnetic field, this can be used to make an electromagnet,
by making the wire into a coil.

You can increase the strength of an electromagnet by doing
three things:

1. Increase the number of coils
2. Increase the current

3. Add a soft iron core

The motor effect: A simple electric motor can be built using
a coil of wire that is free to rotate between two opposite
magnetic poles. When an electric current flows through the
coil, the coil experiences a force and moves. This is called the
motor effect.




. . Key Terms Definitions
Year 8 Physics Knowledge Organiser
. Energy Energy is a quantity that is stored in many objects and
.—.O‘-n 6: m-.-QBK situations. Anything storing energy can do work.
KPI 1: describe examples of energy transfers Work Work is done when energy changes from one store to
KPI 3: apply the law of conservation of energy to situations involving energy transfers another.
Potential Potential energy is energy stored in objects that don’t
Energy Stores energy seem to be doing anything. See the examples.
Energy can be stored in objects, or when objects are doing something. Itis || “"emic@ EneIgy Stored B uels (e Wnod, O the gas we T
g e potential Bunsen burners on) is called chemical potential
a quantity measured in joules (J). Examples to know: energy energy.
* Energy is stored in fuels as chemical potential energy = o o e
* Energy is stored in anything elastic when it is stretched, as elastic - B S O e ey Shore
potential elastic potential energy when they are stretched.
potential energy energy

* Energy is stored in any object that has been lifted up, because the
object stores gravitational potential energy

* Energy is stored in moving objects as kinetic energy.

* Energy is stored in any object as heat energy. (Obviously, if it is cold, it
doesn’t store much heat energy!) This is also known as thermal energy.

Gravitational
potential
energy

Any object that is not on the ground has gravitational
potential energy. This is because they are lifted up in a
gravitational field, and could fall down!

Kinetic energy

Movement energy. Any moving object stores kinetic
energy.

Energy Transfer

An energy transfer is when energy changes from one store to another.
VERY IMPORTANTLY, the total amount of energy does not change. Energy
cannot be created or destroyed. All that can be changed is how it is stored.
This ideas is called the law of conservation of energy.

Energy is transferred, so it changes store, in loads of situations. Examples

to know:

* When a fuel is burned, the chemical potential energy in the fuel ends up
stored as thermal energy in the surroundings;

* When an object falls off a shelf, the gravitational potential energy it
stores is transferred (changed) to kinetic energy while it is falling.

* When the object hits the floor, all the gravitational potential energy it
had to start with ends up stored as thermal energy in the surroundings.

* When a spring that’s been stretched is released, the elastic potential
energy it stored is transferred to kinetic energy then to thermal energy.

Thermal Also known as heat energy. All objects store some
energy thermal energy, because the particles are moving. The
higher the temperature of an object, the more
thermal energy it stores.
Conservation The law that says energy cannot be created or
of energy destroyed. It can only change how it is stored.
Transferred as Transferred as
electncal anergy light energy
Battery (store of — » B . ; :

This shows how energy changes where it is stored twice
while you use a light bulb (lamp):

From chemical potential energy to electrical energy to
heat (thermal) energy in the surroundings.
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= Temperature The measure of the average amount of kinetic energy
.—.O‘-ﬂ Ou m—-é of all the particles in a substance.
KP1 2: describe how thermal energy transfers from one place to another daan The energy stored In'substances thanks to the energy
of their particles. Also called thermal energy.
Temperature and Heat Conduction One way that thermal energy can be transferred.
Objects that are touching can transfer thermal energy,
Temperature and heat are linked, but are not the same thing. The heat of a from the hotter object to the cooler one.
material depends on the potential energy of the particles AND the kinetic Radiation Another way that thermal energy can be transferred.
energy of the particles is it made from. What this does mean is that the All objects give out infra red radiation. Hotter objects
more heat (thermal energy) a substance stores, the higher its temperature give out (emit) infra red radiation that is absorbed by
will be. You can increase the heat stored in a substance without increasing cooler objects.
its :Wva_,mz:m chmsn just get more of it. This means you have more e sy A form of light that we cannot see; infra red radiation
particles, so there is more thermal energy all together in the substance. Sadiation transfers thermal energy from one object to other
objects or the surroundings.
But do not get confused, a cup of tea at 80°C has a higher temperature : .
than a swimming pool at 30°C but because there are many more water Emit To give out.
particles in the swimming pool so the energy is higher. Absrts P

Thermal energy transfer

Thermal energy will always be transferred from hotter objects to cooler
objects. This includes hot objects transferring thermal energy to the
surroundings (the air, nearby surfaces and so on). You can reduce the
amount of thermal energy transferred by insulating the hot object.

Thermal energy transfer by conduction

Hot materials can transfer thermal energy to other materials that they are
touching. This is called conduction of thermal energy. As the diagram
shows, the particles that are heated increase in kinetic energy when they
are heated. They bump into neighbouring particles and pass on (transfer)
thermal energy. This is why a table feels warm after a hot cup of tea is
lifted from it, and the reason why thermal energy can pass through the
bottom of a saucepan to cook your dinner.

0+000000 0000000000
3050000000000 0000

0000000000000

Thermal energy transfer by radiation

All objects give out some infra red radiation, but the hotter
they are the more radiation they give out. All objects can
also absorb infra red radiation: when they do, they heat up.
Radiation can travel through empty space - so this is how
the Sun heats up the Earth. The objects don’t have to be
touching, unlike in conduction, and there are no particles

involved. .
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H Power Power is the rate (or speed) of energy transfer.
.—.O‘-n 6: m—-oe energy transferred (J)
power(W)= time (s)
KPI 4 distinguish between power and energy -
KPI 5 compare values of energy and power using appropriate Sl values Joule (J) The unit for energy
KP1 6 compare different fuels and energy resources Watt (W) The unit for power
ﬂ-o..ﬂt and power Kilowatt (kW) 1000 watts
Renewable Renewable resources are replenished (replaced) as

Energy can be stored in objects or transferred between them. The speed,
or rate, at which energy is transferred is called the power. Divide the
amount of energy transferred by the time it took to transfer it to find the
power (see equation).

This means that is the same amount of energy is transferred in half the
time, the power is twice as much.

they are used.

Non-renewable

Non-renewable resources, like fossil fuels, are NOT
replenished (replaced) as they are used.

Environmental
impact

The effects of something on the environment.

Fuels as Energy Resources
Fuels store chemical potential energy. Many fuels are used a great deal by

humans, including fossil fuels:

* Qil - used to make petrol/diesel/aircraft fuel especially

* Coal - burned in power stations to generate electricity

* Natural gas - used as a fuel for heating homes and for cooking.

These are all very useful fuels, but the problem is that they are non-
renewable and when they are burned, carbon dioxide is produced. Carbon
dioxide contributes to climate change because it is a greenhouse gas.

Other Energy Resources

We don’t have to use fossil fuels for the uses given above. There are many
other energy resources on Earth, including many renewable resources. E.g.
* Sunlight, which we can use to generate electricity with solar cells

* Wind, which can be used to generate electricity using wind turbines

* The tides, which can be used to generate electricity

* Waves in the sea, which can be used to generate electricity.

Choosing energy resources

Many things should be considered to choose an energy

resource:

- The reliability of the energy resource

- The usefulness of the energy resource

- How long the resource lasts, and if it is renewable
- The environmental impact of the energy resource.

FOR EXAMPLE:

Tidal energy is very reliable, as there are two tides per day.
Tidal energy is useful for generating electricity, but you
couldn’t use it to run your car! Tidal energy is renewable,
which is an advantage, because it cannot be used up. Using
tidal energy does not produce polluting gases like carbon
dioxide, but building the generators in the sea can damage
the habitats of wildlife near the coast.




Year 8 Physics Knowledge Organiser

Topic 8: Motion and pressure

KPI 1: Calculate speed and interpret distance-time graphs

Speed

The speed of an object tells you how long it takes an object to cover a
distance. The unit for speed is m/s (metres per second).

Speed is calculated by dividing distance by the time (see equation in the

Key Terms Definitions

Gradient How steep the line on a graph is.
Stationary Not moving

X axis The horizontal axis on a graph
y axis The vertical axis graph
Acceleration Speed of an object is increasing

Deceleration

Speed of an object is decreasing

box). Equation Meanings of terms in equation
If the speed of an object is increasing, then it is accelerating. If the _d W.N.HMRQ

speed is decreasing it is decelerating. i T= Time

Distance Time Graphs Acceleration and Deceleration

A distance time graph has the time on the x axis and the distance on the y axis.

If an object is stationary (not moving) the line will be horizontal. If the line is

diagonal the object is moving at a constant speed. If the line has a larger gradient
(steeper), it means it is moving faster. If the line is going back towards the x axis it

is returning to its starting point.

Higher gradient
= faster speed

statonary

Lower gradient =
lower speed

shoady speed
retuming to start

Care

Acceleration

When an object is accelerating, the distance time
graph will curve upwards.

When an object is slowing down an object will curve
towards the horizontal.

Deceleration

.-




. . Key Terms Definitions
Year 8 Physics Knowledge Organiser 3
Topic 8: Motion and pressure Pressure The force exerted over a given area
Fluids A substance that can flow
KPI 2: Compare pressure in liquids and gasses Pascals The unit for pressure which can also be
written as (N/m?)
Gas Pressure oo s ot : e
Gas pressure is caused by gas particles colliding with the walls of the . M shesinsenes - aas
container. A container also experiences pressure on the outside. Air P=Pressure Pa
particles on the outside collide with the outside wall. An imbalance *P= m f=Force .ut
between the pressure on the inside and outside can cause the container e

to change its shape.
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There are 3 factors affecting gas pressure:
1. Number of particles

2. Temperature

3. Volume

Atmospheric pressure
The atmosphere exerts a pressure on you and everything

around you. The higher you go the lower the atmospheric
pressure becomes.

KPI 3: Calculate the pressure exerted by an object

Pressure in fluids

Fluids (liquids or gases) exert pressure at 90" to the surface. In a gas
particles are constantly colliding with objects, this exerts a pressure. In a
liquid like water the deeper you go the higher the pressure.

Pressure on surfaces

Objects exert pressure on the surface that they are on. The
size of the pressure depends on the force applied by the
object and the surface area of the object.

Pressure is calculated by dividing force by area.

Some objects look to increase pressure for example drawing
pins have a very low surface area, so exert a high pressure.
Snow shoes have a very large surface area so exert a very low
pressure, stopping people sinking into the snow.
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What | Must Know

Describe the love cause of the Break with Rome

Describe the power causes of the Break with Rome

Describe the money causes of the Break with Rome

Describe the faith causes of the Break with Rome

Describe the 4 methods of the Break with Rome

Describe the consequences of the Break with Rome
in Henry VIIl's lifetime

Describe the consequences of the Break with Rome
in reigns of Edward VI, Mary |, Elizabeth I, James |
and Charles |

Explain the causes of the Break with Rome

Explain the methods of the Break with Rome

Explain the consequences of the Break with Rome in
Henry VIII's lifetime and up until 1650

Describe the challenges Elizabeth | faced on her
accession to the throne in 1558: legitimacy, gender,
age, marriage, religion, economy, internal threats
and threat of invasion
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What | Must Know

Explain why and how Elizabeth
| faced challenges on her
accession

Judge which of Elizabeth’s
challenges was most significant
and why

Describe the need for
Elizabeth | to marry

Describe the possible suitors for
Elizabeth |

Explain reasons for and against
each choice of husband:
Robert Devereux, Robert
Dudley and Philip Il of Spain

Explain why Elizabeth | chose
not to marry

Explain why Elizabeth I's
refusal to marry was so
significant for England

Describe Elizabeth I’s aim in
her Religious Settlement
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What | Must Know

Describe the key features of the Act of Supremacy in
1559 and Act of Uniformity in 1559

Describe the key features of the Spanish Armada:
causes, plans, battle, key leaders

Explain why the Spanish Armada was defeated in
1558

Judge the key reasons for the defeat of the Spanish
Armada in 1558

Describe the uses of Elizabethan propaganda

Explain why propaganda was important to
Elizabeth’s rule

Describe the key features of the Gunpowder Plot:
causes, plans

Explain why the Gunpower Plot of 1605 failed

Analyse the usefulness of the content of a source

Evaluate the usefulness of the source: POND —
Purpose (why the source was made/intended
audience, Origin: author, Nature: source
type...speech, portrait), Date: when it was made,
put the source in context.
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Explaining
phrases

This meant
that...

This shows
that...

This led to...
As a result...

If this hadn't
happened...

Connective
s

However...

Consequentl
y...

Also...

Moreover...

Writing frames to learn in this topic:
Describe 2 key features

One key feature of ........... Was..........
Explain two consequences of (PEAL)
One cause/consequence of ............

WaS....iiiiiiiiieeiennnnnns . This meant
that.............. which led to.............. . This
then.........ooooeiini.
Therefore.......ccooovveviiiiinn. ..

Write a narrative account analysing how...
This is a CHRONO LINK with ANALTYICAL

PHRASES. This means it is a chronological
retelling of an event with links explaining how one
part of the event links to another part of the event
whilst supporting it with detailed knowledge.

Think causes — what actually happened in order
and how one aspects led to another- the
consequences

How useful is Sources B for an enquiry into...?
Source B is useful .... (explain what the content
shows us- then say how that would help an enquiry
into and link in your own knowledge)

Source B is useful asitis from................... This
makes itusefulas...................... The nature of
the source is........... which is useful for an enquiry
as..........

I's purpose is to...... which makes it more/less
useful because..................ooenl.
Statement: How far do you agree with this
statement?

| agree/ disagree with the statement to a limited
extent / to an extent/ to a large extent. | would
arguethat ....................

The statement can be agreed with as.......
However, the statement can be challenged and
disagreed with as.........

In conclusion, | would therefore agree/disagree
with statement as | would argue that........ was the
most important...... as

Measurin
phrases

To an extent...
Totally different...

To a limited
degree...

To a large
extent...

Assess phrases

Without this...
then...

In the long term...

For the short
term...

If this hadn’t
happened...

This is more/less
important...

Chronolink
Phrases

Therefore...
Due to this..
As result...
Then....
This led to...
Hence...

Combined

Thus..

A further
consequence
was..




KO Y8 — Tudors 1485-1603

Period: Tudor England 1485-1603

Tudor England is the pericd 1485-1603 which was also the 15% and 16th
centuries. This is also known as Early Modern Britain

Key Events

1485- Battle of Bosworth Field marked the end of the Wars of the
Roses between the House of York and the House of Lancaster. Henry
Tudor won the battle, the House of Lancaster won the wars and the
Tudor reign began

1534- Henry VIII began the Break with Rome passing the Act of
Supremacy and the Act of Treason

1536-1540- The Dissolution of the Monasteries. Henry VIl destroyed
the monasteries in England to access their wealth, land, reduce
opposition and as they were accused of being immoral/corrupt.

1547-1553 Edward VI ruled and made England a Protestant nation

1553-1558 Mary I ruled and returned England to Roman Catholicism.

Key Concepts

14 Religious
conflict

The 16" and 17*" century saw religious change as a new
form of Christianity developed and led to conflict
between leaders and people.

15
Reformation

Reformation, also called the Protestant Reformation,
this was the move of part of the church away from the
authority of the Pope. Its greatest leader was Martin
Luther.

16 Tudor
monarchs

The emphasis in Tudor times was on authority of the
monarch, the monarch had absolute power but the
Church has considerable control. Once Henry VIl had
taken over the Church he became Supreme Leader.
People followed authority and would question the
views of King/Church at risk to their own lives. Henry
Vil introduced the death penalty for witchcraftin 1542,

Key Words

1555 The Pope was restered as head of the Roman Catholic Church in
England

17 Roman Catholic

A form of Christianity, followers of the Roman
Catholic Church.

1558-1603 Elizabeth | ruled England, she was the last Tudor

18 Heir

The nextin line for throne

1558- Act of Supremacy, Act of Uniformity and Royal Injunctions.
Elizabeth sets out her Religious Settlement as also known as the
Middle Way

19 Pope

Head of the Roman Catholic Church, ran the
Papacy, seen as infallible

20 Protestant

A follower of the Protestant faith

10

1570- Elizabeth is excommunicated by Pope

21 propaganda

The deliberate attempt to make someone believe
something usually political

11

1587- Mary Queen of Scots is executed

12

1588- The Spanish Armada is launched against Elizabeth and England.

22 Act of Law which gave English monarch control over the
Supremacy church in England, established the Church of
England
23 Cause The reason why something happens

13

1603- Elizabeth | died leaving the throne to James VI of Scotland, the
Stuarts then ruled England and Scotland.

24 consequence

The result of a cause: positive or negative
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37

Thomas
Cromwell

Cromwell was Henry's chief minister 1532-
1540. He helped the King in breaking from
Rome and establishing his own Church in
England, with Henry as Supreme Head of
the Church. He had a large role in the
Dissolution of the Monasteries from 1536
onwards. However, he fell out of favour
following the disastrous Anne of Cleaves
marriage and was executed in 1540.

38

Edward VI

Reigned from 1547 to 1553. He was only 9
years old when he became King of England
and died when He was 16 years old. Edward
was a Protestant and he was the only
legitimate son of Henry VIII.

39

Lady Jane
Grey

Lady Jane Grey She was the great grand-

daughter of Henry VIl and named by Edward
to be his successor to the throne of England.
She became known as the ‘nine day queen’.

Key Words
25 method How something happened, the process
26 Roman Catholic | This was the organisation that controlled religion
Church in Western Europe before 1517, it was incredibly
powerful as people could only access heaven
through following the rules of the RCC
27 monasteries A place where monks lived, prayed and worshiped
28 Break with This was the event that saw Henry VIl break
Rome England away from the RCC and establish his own
church
29 Counter- This was when the RCC and monarch began to try
Reformation and get rid of Protestantism in Europe
30 dynasty A powerful family
31 treason A crime against king or country
32 martyr A person who dies for their beliefs
33 supreme Being the ultimate source of power
Key figures
34 Henry Vil He became king in 1485 following the Battle of
Bosworth. He ended the wars of the Roses and united
the rival houses of York and Lancaster by marrying
Elizabeth Woodville, the daughter of Edward IV, a
Yorkist. Henry tried to improve the power monarch
and avoided war where possible.
35 Henry VI Henry came to the throne following the death of his

father in 1509. Henry was deeply religious but also
desperate for an heir. He tried to divorce his first wife,
Catherine of Aragon, for this reason and so began the
English Reformation. He increased the control of the
monarchy but conducted costly and expensive wars.
He developed the Royal Navy, building the first naval
dock and setting up the naval administration,

Mary |

Reigned from 1553 to 1558 Mary | was a
Roman Catholic. As Henry VIII's eldest
daughter she had a stronger claim to the
throne of England than Lady Jane Grey.
Mary imprisoned and then executed her.
Mary was nicknamed ‘Bloody Mary' as she
was responsible for signing the death
warrants of 301 Protestants who did not
support her beliefs.

41

Elizabeth |

Reigned from 1558to 1603. Elizabeth | was a
Protestant. She never married and became
known as the “Virgin Queen’. She was the
last Tudor and when she died, the throne of
England passed to the Stuarts, the royal
family in Scotland.
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Key People

42 | Mary Mary Queen of Scots was cousin to Elizabeth |. She
Queen | wasa Roman Catholic. It was feared that she was
of plotting to take the throne of England. Elizabeth had
Scots her arrested, imprisoned for 15 years before

executing her in 1588.

43 | Philip He was King of Spain and originally married to Mary
Il of |. After her death he proposed marriage to Elizabeth
Spain |, but she refused! He wanted to wipe out

Protestantism in Eurcpe. He sent the Spanish
Armada in 1588 to try and conquer England.
More detailed events.. Cause-Event-Consequence

44 | Break Causes (4)
with Love: Anne Boleyn but married to Catherine of
Rome Aragon

Money: need to French Wars, low Royal income-
get from Church taxes ( St Peter’s Pence, tithes),
land, monastic buildings and land

Religion: RCC corrupt and superstitious, Henry VI
run it more effectively

Power: Supreme Leader of Church and State, male
heir= secure dynasty/reduce threat of invasion, gain
Protestant support, guided by Cromwell and
Cranmer

Methods (4)

1. Parliament used to pass laws,

2. Act of Supremacy 1534 (new Ch of E, Henry VIl
Supreme Leader, service and Bible out into
English,

3. Treasons Act, executed those who denied Act
of Supremacy

4. Dissoluticn of the Monasteries 1536-1540

Break with
Rome

Love: behead AB, married Jane Seymour (dies
following child birth), Anne of Cleves: diveorce,
Kathryn Howard: behead/affairs, Katherine Parr:
outlives him

Money: money wasted on wars, England almost
bankrupt in 1547

Religion: England is divided over religion, Edward VI
makes it Protestant, Mary | returns it to Roman
Catholic and burns 301 Protestant, Elizabeth tries to
a Middle Way, Gunpowder Plot,

Power: Monarch not seen as supreme leader, English
monarch are not undisputed rulers but face
rebellions and threats: Gunpowder Plot, Parliament
grow increasingly strong, English Civil War 1642-1649
which leads to end of the monarchy

45

Elizabeth I's
problems

Legitimacy- parents marriage not recognised by RC,
therefore she had no right to rule

Financial: £300, 000 in debt

Gender and age: young, female (reputation of Mary
)

Religion: England divided over religion, needs a
compromise {Act of Supremacy 1559 and Uniformity
1559)

Marriage and heir: needs ally, support, last Tudor and
needs an heir (or throne to Stuarts, threat o f civil
war), no suitable husband= not marry

Mary Queen of Scots: seen as legitimate heir, ally
with France, later Spain, support of English RC
{rebellions)

46

Elizabeth I's
propaganda

Use of portraits to control image and cover what he
looked like, could not travel as too dangerous,
needed to look strong, wealthy and powerful as she
represented England.
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More detailed events.. Cause-Event-Consequence

)
N

47

Spanish Armada 1588

7
Causes: religion, Philip Il wanted to make England RC, wealth, New World, Francis Drake and theft from Spain,
Genoese Loan, Elizabeth helping Dutch Protestant rebels, marriage refusal, use of England as a port

Plan: Spanish Led by Medina Sedonia 130 Spanish ships sail in a crescent formation with 8000 sailors and
18,000 soldiers to Flanders, collect 30, 000 soldiers and then invade England, remove Elizabeth and conquer it.

English had 80 ships led by Drake and Howard, beacons lit to warn of approaching Armada, aim to cut of ports to
Spanish and break formation before soldiers could board in Flanders

Why was it defeated?

Poor Spanish planning and mistakes: lack of gunners, no plan B, inexperience of Medina Sedonia, ships too C
slow/big, not enough sailors, food rots and water stale, no port to harbour in Flanders, did not attack English
when stuck in port, communication failed so no soldiers in Flanders to collect,

English leadership: Drake and Howard experienced, loyalty from their men, Elizabeth | gave them freedom to
adapt and all 3 inspired their men

English ships: agile, smaller

English tactics: kept distance from Spanish canons and grappling hooks, Line-A-Stern, FIRESHIPS: 8 ships set
alight and sent towards Spanish, they cut anchors and broke formation which meant the English could go in and
attack them!

Consequences: English win, Spanish caught in storms and destroyed. World super power lost= beginning of
Spain’s decline

F " L

48

Gunpowder Plot 1605

Who? A group of Catholics led by Or& Fawkes and including Robert Catesby, Thomas Winter, Thomas Percy and b
John Wright.

WHY? Some Catholics felt the King was treating Catholics unfairly this was because they had to practise their
religion in secret. You could be fined if you did not go to a Protestant church on Sunday. Rumours that James |
planned to ban Catholicism. Some wanted rid of RC and may have framed them (Cecil- King's chief Minister as
Protestant)

AIM? Kill the king and replace him with his daughter and make her Catholic.

WHAT? A plot to Kill the King of England James | by blowing parliament up. Rented a cellar under the House of
Lords filled with 36 barrels of gunpowder (first lot went off). Blow up Parliament in London 5th November 1605
as this was state opening day, when the Kings, Lords and Commons would all be present in the Lords chamber.
WHY FAILED? Delayed a year, took more people into the plot, letter sent to Lord Monteagle, Cecil had a double
agent, Guy Fawkes arrested, confesses (?), plotters surrounded in hiding and killed/arrested.

CONSEQUENCES: Guy Fawkes killed for treasen, RC not trusted, not allowed to work for government, Bonfire
Night set up to remember it.

BUT... framed? Confessions re-written, no tunnel, no witnesses, all who could say Cecil set them up killed....

O

)




KO — Tudors 1485-1603 and Gunpowder Plot 1605 Practice questions

Describe questions

Describe two key features of the Break with Rome

Describe two key features of the methods of the Break with Rome
Describe two key features of the Act of Supremacy 1534

Describe two key features of Elizabeth I's marriage choices
Describe two key features of the Gunpowder Plot 1605

Explain question

Explain two consequences of Break with Rome

Explain two consequences of religious change in England under the Tudors 1534-1603
Explain two consequences of the Spanish Armada 1588

Explain two consequences of the Gunpowder Plot 1605

Narrative account

Write a narrative account analysing how Henry VIl made the Break with Rome 1534-1547
Write a narrative account analysing how Elizabeth dealt with problems she faced in her reign
Write a narrative account analysing how religion changed under the Tudors 1534-1603
Write a narrative account analysing the Spanish Armada 1588

Write a narrative account analysing Gunpowder Plot of 1605

How far do you
agree?

‘Henry VIl made the Break with Rome over love.” How far do you agree with this interpretation?

‘“The Act of Treason 1534 was the most important method of the Break with Rome.” How far do you agree with this
interpretation?

‘Henry VIl achieved his aims in the Break with Rome.” How far do you agree with this interpretation?

‘Mary Queen of Scots was the greatest threat that Elizabeth | faced.” How far do you agree with this interpretation?
‘The Gunpowder plotters were framed.” How far do you agree with this interpretation?
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Revision

What | Must Know | © | ©

Types of plate boundary

Case Study — Nepal 2015
(effects and responses)

Case Study — Kobe (effects
and responses)

How to prepare and protect
against earthquakes

HDI (Human Development
Index)

Disadvantages of measures of
development

Impact of a natural hazard on
a country (Haiti)




KPl Name:

To describe conservative, constructive and destructive plate boundaries.

Plate boundaries:

- The Earth’s crust is broken into different plates,

which sit on the Earth’s mantle.

- These plates move because of convection

currents.

- The plates move in different directions and meet

at plate boundaries.

- As the plates move, parts of the crust are
destroyed and in other areas new crust is

created.

Different types of plate boundary:

- There are three different types of plate boundary: destructive, constructive and conservative. Which type they

are depends on how the plates move at this boundary.
- Different plates boundaries have different landforms, such as volcanoes and fold mountains.

Boundary Movement Diagram Example Landforms
Destructive The plates either The Nazca plate being | Volcanoes
collide or the oceanic forced under the Fold mountains
plate subducts under South American plate. | Earthquakes
the continential plate.
Constructive | The plates move The African plate and Volcanoes
apart. the South American
plate.
Conservative | The plates move The Pacific plate and Earthquakes
alongside each other. the North American
plate.

Key words and terms:
Plate boundaries:
Where two or more tectonic plates meet,

Conservative:
A plate boundary where two plates slide
past one another.

S ™ Constructive:

A plate boundary where two plates are
moving apart.

Destructive:
A plate boundary where two plates are
colliding.

Magma:
Molten rock from the mantle before it
reaches the surface of the earth.

Lava:
Molten rock released from the earth’s core
by a volcano.

Fold Mountains:

Mountains formed at collision zones, where
two continental plates move towards each
other.

Volcano:
A ventin the earth’s crust from which lava,
ash and gas is released.

Earthquake:
A sudden shaking of the ground, caused by
movementin the earth’s crust.




KPI Name:
I understand the three kinds of tectonic movement and how they link to earthquake activity, using key
terminology.

Plate boundaries and earthquakes:

- The Earth’s crust is broken into different plates, which sit on the Earth’s mantle.

- The plates move in different directions and meet at plate boundaries. These three boundaries are called
destructive, constructive or conservative plate boundaries (see knowledge organsier 8.1.2 for further
detail).

- Earthquakes can happen at any plate boundary.

- Plates do not always move smoothly alongside, under or beside each other. They sometimes get stuck.
When this happens pressure builds up and, when this pressure is released, an earthquake occurs.

- Every earthquakes has an epicentre and a focus.

- The focus is the point in the earth’s crust where the pressure between the two plates is released. It is
underground.

- The epicentre is the point on the surface of the crust, above the focus.

Earthquakes on conservative plate boundaries:

- Earthquakes can occur at all plate boundaries. However,
conservative plate boundaries clearly show how earthquakes
happen.

- The San Andreas Fault is part of the plate boundary between
the Pacific plate and the North American plate.

- The Pacific plate moves slightly faster than the North American
plate. This means that, even though the plates are moving in
the same direction, they can get stuck, causing a build up of
pressure.

- This build up and release of pressure caused two major
earthquakes during the last century, in 1906 and in 1989.

- However, this area experiences constant small earthquakes,
with Los Angeles experiencing 10 earthquakes per day on
average!

- Because of this movement, Los Angeles should be in line with Paciic Piate

moving relatively

San Francisco in roughly 20 million years. FAS TER

Earthquake:

The shaking or vibration of the earth’s
crust due to pressure at a plate
boundary.

Mantle:
The semi-molten layer below the
earth’s crust.

Crust:

The thin, rocky outer layer of the
earth. It is broken into many different
plates.

Plate boundary:
The point where two tectonic plates
meet.

Destructive plate boundary:
Where two plates meet and they are
moving towards each other.

Constructive plate boundary:
Where two plates meet and they are
moving away from each other.

Conservative plate boundary:

Where two plates meet and they are
moving alongside each other (either in
the same or opposite directions).




Y8 Geography Knowledge Organiser ~Global dev

what is development?

elopment and the development gap

1. Development is an improvement in lving standards through better use of resources,

2. Economic development is progress in economic growth through levels of industrialisation and use of technology.
3. Social development is an improvement in people’s standard of living, For example, clean water and electricity,
4_Environmental development is advances in the management and protection of the environment.

Measuring Development - These factorsare used to compare and understand a country’s level of development.

Economi indicators

1. Employment type - The proportion of the population working in primary, secondary, tertiary and quaternary industries

2. Gross Domestic Product per capita - This is the total value of zoods and senvices produced in 3 country per person, per year,
3.Gross National Income per capita - An average of grossnational income per person, peryear in US dollars.

Social indicators

1. Infant mortality - The number of children who die before reaching 1 per 1000 babies bom.

2. Literacy rate - The percentage of population over the age of 15 who can read and write.

3. Life expectancy - The average ifespan of someone bom in that country.

Mixed indicators

1. Human Development Index (HDI) - A number that uses life expectancy, education level and income per person,

The Demographic Transition Mode

The demographic transition model (DTM)

Causes of uneven development
Development & globally uneven with mast MICs located in Europe, North America and Oceania. Most NEES are in Asia and South Am

Variations in the level of development

1. UC- Poorest countries in the world. GNI
per capita is low and most citizens have a
low standard of living.

2. NEE - These countries are getting richer as
their economy is progressing from the
primary industry to the secondary
industry. Greater exports lead to better
wages.

3. HIC - These countries are wealthy with a
high GNI per capita and standards of
living. These countries can spend money
ON SErvices.

o

g A"

Human factors affect Ng uneven cevelopment

1. Trade - Countries that export more than they import have a trade surplus. This can improve the national

shows population change over time. It e = G N B S | ... economy. Having good trade relationships. Trading goods and services is more profitable than raw materials.
studies how birth rate and death rate affed 2. Health - Lack of clean water and poor healthcare means a large number of people suffer from diseases. People
the total population of a country who are ill cannot work so there is little contribution to the economy. More money on healthcare means Jess
spent on development.
Key 3. History - Colonialism has helped Europe develop, but slowed down development in many other countries.
Birth rate [ ———— Countries that went through industrialisation 3 while ago, have now develop further.
Deathrate — 4. Politics - Aid can help some countries develop key services and infrastructure faster, Aid can improve projects
Total population such as schools, hospitals and roads. Too much reliance on aid might stop other trade links becoming
STAGEL STAGE2 STAGES STAGEL STAGES established.
Hgh DR B8R Low Rapidly faling OR Low DR Slowly Faliing DR 5. Education - Education creates a skilled workforce meaning more 200ds and services are produced. Educated
Mzh8a Deciining OR Low BR Low BR Low BR people earn more money, meaning they also pay more taxes. This money can help develop the country in the
Steady very High High 2er0 Negative ftore. N
. 6. Aid - Corruption in local and national governments, The stability of the government can effect the country’s
&.g. Trives &.g. Kenya &g Inda e.g. UK e.§. Aapan abiity to trade. Abiity of the country to invest into services and infrastructure

Consequences of uneven development
erica, whilst most LICs are in Afnca. Remember, development can also vary within countries too,

The physkal factors affecting Gevelopment are:

1. Natural resources- Fuel sources such 2 of. Mineralsand metals for fuel Availability of timber, Access to safe water,

2. Natural hazards - Risk of tectonic hazar ds, Benefits from volcanic material and floodwater, Frequent hazards undermine
redevelopment.

3. Cimate - Relabilty of rainfall to benefit farming. Extreme cimates imit industry and affects health, Climate can attract tourists,

4. Location/ terrain - Landiocked countries may find trade difficulties, Mountainous terrain makes farming difficult, Scenery
attracts tourists,

Levels of development are different in dfferent countnes, This uneven development has consequences for
countries, especially in wealth, health and migration,

1, Wealth - People in more developed countries have higher incomes than less developed countries,
2.Health - Better healthcare means that people in more developed countries five longer than those in less
developed countries,

Migration - If nearby countries have higher levels of development or are secure, people will move to seek
better opportunities and standard of living,

“-
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Year 8 DT Revision

What | Must Know | = | =

Describe — use of hand tools

Identify — ferrous, non ferrous
metals and alloys

Explain — how to produce a CAD
design for cutting on the laser
cutter

Define — the terms ferrous, non
ferrous and alloys

Calculate — the total length of
material used in a product

Use the writing frames for:
Hand tools

Metals and their uses

Preparing an image for the laser
cutter

Engineering drawing for the bracket



Ferrous Ferrous metals contain iron, so can rust and are

Metals magnetic. Common ferrous metals include — steel and
iron

Non Non ferrous metals do not contain iron, so can not rust

ferrous and are not magnetic. Common non ferrous metals

Metals include — aluminium and copper

Alloys Alloys are combinations of two or more metals to make a
better metal — common alloys include — stainless steel
and brass

Thermopl Thermoplastics are those plastics that go soft when they

astics get hot, this allows them to be shaped and formed. In
school we most often use acrylic with the laser cutter and
HIPPS with the vacuum former.

Thermose Thermosetting plastics are plastics that set when they are

tting heated or compressed under heat. We don’t use

plastics thermosetting plastics in school as they are not easy to
work. Epoxy resin adhesive is a common thermosetting
plastic.

CAD Computer Aided Design — the CAD packages we use
most often in school is 2D Design, we use this to produce
the designs that we cut on the laser cutter.

CAM Computer Aided Manufacture — the laser cutter is the

CAM machine we use the most often, we use this to cut
out the designs for the blades of the spinner.

For the image above to be ready for
the laser cutter, what do we need to
do?

RED line — cutting, BLACK areas —
etched onto the acrylic. The first
stage was to copy in a black and
white clipart, we then turned it
transparent before contouring it in
red. The lines were joined to the
bracket and then the unwanted lines
were deleted.

/» Scribe I Pillar drill
o N Engineers square File
Steel rule Junior hacksaw

Centre punch

Engineers vice

Ball pein hammer

s
LN\
s 3

/

Marker pen




knead To thoroughly mix ingredients in a dough and in the case of bread, develop the gluten structure, creating an elastic
dough.

Rubbed in method Rub fat into flour using the tips of your fingers only as this is the coolest part of the hand. The particles of flour are
coated in fat to reduce the formation of gluten. This method is used for scones, pastry and a rubbed in sponge cake.

prove Dough relaxes and yeast works, forming carbon dioxide bubbles which make the dough rise. The gluten structure
forms a stretchy skin, like a balloon, to hold the bubbles of gas. O

Pastry cutter,

Cut accurate shapes from
pastry or scone dough.
Used to create many
identical products.

Sauce pan

Used to combine and
heat ingredients, often
used to simmer or boil
SOUPS Or sauces.

Baking tray. Used to {ook
fogd products, like

scones, and to transport
them to and from the
oven.

Weighing scales used to
accurately weigh larger
quantities of usually dry
ingredients. Weighs in
increments of 1g.

Measunng Jug

Electnic kettle. Used to safely and

quickly boil water. .

Colour coded chopping boards.
Used to protect the work surface
when chopping ingredients. The
colour coding can help uses to
prevent Cross contamination.

Always remember
to think about

detail, why do things
happen the way
they do? Why are

Electnc hob used to transfer heat
(via metal plates) to a panin
order to cook or reheat food.

Gas DR Ysed to transfer heat you following a
(via gas flames) to a pan in orde certain process?
to cook or reheat food.

Muxing bowl
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What | Must Know

What are the 7 formal elements in Art & Design

What is a Still Life painting and what might you
expect to see in one?

Be able to name at least 2 artists who have
painted a Still Life painting

What is mixed media?

How to apply gradients of tone to a drawing

How to use guidelines to support composition

What is the difference between Watercolour paint
& Acrylic paint

How to blend and apply tone using watercolour
paint

What is Pop Art? What would you expect to you in
a Pop Art painting?

Describe the work of Roy Lichtenstein, using
colour, style and influences

Be able to discuss Pop Art using Onomatopoeia
words

Describe the work of Nancy Standlee, using her
media preference and influences

e
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Analysing Art

TONE  SHAPE & FORM (xovomssmums |

Line
JYone means the lightness or darkness of A shape is an area enclosed by a line. It could What is it? What exactly can you see? What is happening? What does the work
something. This could be a shade or how dark or be just an outline or it could be shaded In. Tone |
light a colour appears | represent?

is a threo dimensional shape such as a
F sphere, cubo or & cone. Shape | What does the artist call the work?

Sculpture SE re about creating Form Does the title change the way we see the work?
Texture What is the theme of the work?

5 Colour landscape, portrait, journey, i, Y, t, surreal, i y, abstract, message, energy
., ‘ Pattern
Shade Eorm — looking at the formal elements
3 Light i What colours does the artist use? Why? How is the colour organised?

Dark ) What kind of shapes can you find?
| What kind of lines and marks does the artist use?

Pressure g
Natural Pattern What is the surface like?
M 2de Pattain What kind of textures can you see?
anm What kind of patterns can you see?

/\ J Geometric Shape How big is the work?
“the a ‘ ; axa Organic Shape light, delicate, layered, strong, rough, dark, peaceful, dripped, textured, scale, vivid, bright
A pattern Is a design that is created by repeating Actual Texture
lines, shapes, tones or colours. —
| Patterns can be manmade, like a design on fabric, Visual Texture Process — how the work has been developed and made
or natural, such as the markings on animal fur. -
Design \ What materials and tools have been used?
3D Design | What is the evidence and clues for how it has been made?
3 o " ek B35 P O B T 3 T
1P Primary Colours
§ ..i.‘_ Secondary Colours El - looking at the ication of ds and feelings
— { Mix i How does the work make you feel?
3 ; - { Blend | Why do you feel like this?
\/ e / .\ | Does the colour, texture, form or theme of the work affect your mood?
— quiet, contemplative, thoughtful, hopeful, peaceful, elated, joyful, celebratory, reflective

i ‘ Interpretation and Justification — looking at the ing of the work

w
.m s | After analysing the t, form, pr and d
- J.. ' ! What do you think the artist is saying? Why?
T
-

' n What message is the work/artist trying to communicate? Why?

Secondary
Colors

The Color Wheel

y oy 0 Vv 9 % v 9% v 9 9
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Year 8 FRENCH REVISION

What | must know or be able to ... " e
" Describe a photo In 4 sentences (il y a : therels ...)
. Write 90 words (about 15 lines) on the toplc of school and free
_time

School subjects
. Express and justify opinions
' Glve the time in French and describe my timetable
" Describe my uniform
' Position and agree my adjectives correctly (e.g. je porte une
__cravate noirae)

Use verbs in the PAST accurately (e.g. Hier jai étudié ... Yesterday |
studied ...) to describe what you did recently

. . -

" Use varbs in the FUTURE accurately (e.g. Ce weak-end je vais aller
~audinéma ... This weekend | am going to go to the cinema)
Use a range of connectives




Vaew Dovwgrore P R T P e L

YEAR § — TRENCH — REVISION

Uze this knowledge organiser to revize for your assessment. Try:

—— — ety e e b Trwdiony o Bt Ao

practice questions;
getting someone to quiz you; - WX C K

making flashcards to use when quizzing: ” D 000 |
graphic organisers {see right}; -
the Cornell method (see right); = 4
talk for 3 minute on the given term/topic — no pauses, no .
hezitations. Slips or repetitions or micro pauses loze 3 'life” — three
strikes and you're out!

Aot Mool way

The Cornell Method

Key questions:

1- Qu’'est-ce-gue tu as dans ton sac? - What do you have in your bag ? °

2-Tu aimes ton collége ? - Do you like your school ?
3- Qu'est —ce que tu as le lundi 3 neuf heures? - What do you have on 3 Monday at nine o’clock ?
5- Décris ton uniforme? - Describe your uniforme ?

6- Tu aimes ton uniforme ? Pourguoi ? Do you like your uniform and why ?

7- Qu'est —ce que tu as fait hier aprés le collége ? — What did you do yesterday after school?

8- Qu'est-ce-que tu vas faire ce week-end? — What are you going to do this weekend ?



ke frongais - French

k sport/ |EPS - PE

e dessin - Ar

o technologie - tech

s géographse - geography
ko religion - RE

o musque - music

ks maths - Maths

ks sciences - sciences

Opirions

Je perse que ... - I think that..

Ma motidre préférés ezt .. - My fovourite subject is..
A mon avis... - In my opinion...

J'ai horreur de .. I really hate ..

Cest.. /Ce n'est pas.. It is.. /It isn't

Je trouve ¢a .- I find it .

J'adore .. I love

parce que/car/puisque/vu que - becouse

Ce que j'aime ke plus, cest ... = Whet I love the most is...
Ce que j'aime be moins, c'zst .. - What I ike the least is .

Je préfére... - I prefer..
J'aime beaucoup ..~ I liks.. a lot
Jaime un peu .. - I like ..a little
Je r'aime pas .- I don't like

Je déteste .. - I hate ...

Reasons
Cesr-Itis..
Cs n'est pas .. Itisn't .

génial - great difficile - difficult
amusant/marrent - fun ennuyeux - boring
fatigant- tiring intéressant - interesting
bétz - stupid facile - sasy

débils - daft sersess - sensational
barbant - boring casse-pied - ¢ pain
strict - strict compliqué - complicated
nul - rubbish inutile - useless

utile - useful

Je rs zais pes si jaime - -1 don't know if I like ..

Les offaires d'école - School equipment
Dans mon sac/ma trousse - In my bog/pencil-cose

Jai - I have un livee - a book

un cohier - an exercize book un stylo - o pen

un crayon - o pencil un b@ron de colle - a glue stick
une gomme - o rubber une calculatrice - a calculator
une régle - o ruler des ciseaux - sCissors

des crayons de couleur - colouring pencils  des vEtements de sport - PE kit

Je rigi pas de stylo /de cahier/ de trousse -

I don't have o pen/exercize book/pencil case
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Year 8 German

Revision

What | must know

To say where you usually go on holiday

To describe a typical holiday in the present tense

To use verbs in the present tense accurately, using the ich (I)
and er/sie (he/she) forms

To use the perfect tense (past) accurately to say what you
ate/drank

To say what you WILL eat (future tense)

To say whether you are healthy or not

Express and justify opinions

Vocabulary for food items and meals

To be able to describe a photo using “there is”




_] Use this knowledge organiser to revise Year 8 German Revision :
* *2 <°:ﬂ assessment. 42” Ve [ ..3~41¢ Sequestal Thinbing Modw Sequemtal Thnling Meds
i The Cornell Method 2}
® practice questions; o P :
® pgetting Someone to quiz you; : = =}
* making flashcards to use when W |
e Chas e Secpertrd Thekng Madd Dirking o Rgh Angla
quizzing; O ; SOHON =
e graphic organisers (see right); 2 A _ , N SO - < m .
» the Cornell method (see right); M Q QOO0 N
e talk for a minute on the given PA— : 3 ¢ 'e
term/topic — no pauses, no © Spbder M Wb Mind Mep
hesitations. Slips or repetitions
or micro pauses lose a ‘life’ — : ¥
three strikes and you're out! Topic: FOOD AND DRINK
Was isst du zum Frihstiick? Was isst du zum Mittagsessen? Was isst du zum Abendessen? Was mochtest du trinken?
What do you eat for breakfast? What do you eat for lunch? What do you eat for tea/dinner? What would you like to drink?
Misli cereal ein Sandwich a sandwich - Wasser water
Fleisch meat
Toast toast Nudeln pasta . . Milch milk
Eier eggs Pommes chips s gt o ft iui
5 b pi : Hahnchen chicken shioh O«m:mw _.Enm
sw.m.o“ con ﬁrN.Nm u_.NNm Nudeln pasta Apfelsaft apple juice
._o:“ Jm m”:ﬂ.”_mhm . _ﬂm n:”um Schweinefleisch pork Cola Coke
& YOE wcm mx: n e : Gemtse vegetables Kaffee coffee
m.__ _w S msnmm ; Rindfleisch beef e £en
Oﬂmﬁ M. mm» Kartoffeln potatoes ::_“oq_mam _:m:.o—-..mam_
S Y Bratkartoffeln fried potatoes SRS KNI IR
Zum Frihstick/Zum Mittagsessen/Zum Abendessen...  For breakfast/lunch/dinner...
...esse ich... leat.. ,
..esse ich gern... .1 like to eat... /r v
...esse ich am Liebsten... ...My favourite thing to eat is...

.1 don’t like to eat...
.| often eat...

...esse ich nicht gern ...
...esse ich oft...

v //,Mz,,




Im café — Essen bestellen. Isst du gem...?
Ordering food in a café.

Was mochten Sie?  What would you like?
Was darf es sein? What are you having? Ja,

Ich esse sehr gemn...
Ich esse gern...

Nein,

Ich esse nicht gern...

Do you like eating...?

Ich méchte... | would like
Ich hatte gern... | would like

Einmal/zweimal etc. One/two etc. of ..

Danke! Thank you! Ich esse gar nicht gern...
Bitt Pl ; I . N .

< emelolTE wekome weil das..(adjective)..ist
i denn das ist...(adjective)

Bist du gesund oder ungesund?
Warum?

ein bisschen

Yes,
| really like to eat...
| like to eat...

No,
| don't like to eat...

| really don’t like to eat..

because it is...
because it is...

a bit
quite
very
completely

ziemlich
Are you healthy or unhealthy? Why? S
Ich glaube, ich bin... total
I think 1 am...

(sehr/ziemlich/nicht sehr) Add intensifiers

Over to you!
1) Translate the following: Zum Friihstick

esse ich oft Eier und Wiirste. Ich esse auch
gern Musli, aber das ist ein bisschen fade.
Ich glaube, ich bin ziemlich gesund, weil
ich viel Obst und Gemiuse esse. Ich esse
gar nicht gern Scheokolade. Ich finde das
widerlich!

2) Adapt your translation from Q1 to
create a detailed description of where you
live.

3) Using the verb table and sentence
structure on the grammar sheet, can you
say:

a) what you ate yesterday?

b) what you will eat after school?

c) What a member of your family eats?

(very/quite/not very) . Wie findest du...?

complexity! What do you think of...?
gesund Ich finde das... | find it...
nedily lecker tasty
g e herzhaft hearty
inNeslthy suf sweet
DON’'T LEAVE IT THERE! scharf spicy
Look at the grammar page to see how geschmacklos tasteless
you can extend this simple statement widerlich disgusting
using DENN/WEIL (because). langweilig boring

JOKES ABOUT
GERMAN FOOD

AKE THE

WUKST




GRAMMATIK

Our xw< VERBS for this topic are:

ESSEN (to eat) and TRINKEN (to drink).

In your assessment, you will need to include 3 tenses
Past, Present and Future). Use the time phrases to
make your sentences more advanced.

PAST PRESENT FUTURE
ESSEN —to eat

Ich habe ... gegessen Ich esse ich werde... essen
Du hast ... gegessen Du isst Du wirst... essen
Er/Sie hat... gegessen Er/sie isst Er/sie wird... essen
Wir haben... gegessen | Wir essen Wir werden... essen
Ihr habt... gegessen Ihr esst Ihr werdet... essen
Sie haben... gegessen | Sie essen Sie werden... essen

TRINKEN — to drink

Ich habe... getrunken | Ich trinke Ich werde... trinken
Du hast... getrunken Du trinkst Du wirst... trinken
Er/sie hat... getrunken | Er/sie trinkt | Er/sie wird... trinken
Wir haben... getrunken | Wir trinken | Wir werden... trinken
Ihr habt... getrunken Ihr trinkt Ihr werdet... trinken
Sie haben... getrunken | Sie trinken | Sie werden...trinken

TIME PHRASES TIME PHRASES TIME PHRASES

Letzte Woche Heute Morgen

Last week Today Tomorrow

Gestern Jetzt Nachste Woche

Yesterday Now Next week

Letztes Jahr Normalerweise Nachstes Jahr

Last year Normally Next year

Letzten Monat Montags Nach der Schule

Last month On Mondays After school

WORD ORDER.

In German, sentences often start
with the subject (I, you, he/she
etc.), but they can also start with
a different piece of information
such as a time phrase.

The verb in German is ALWAYS
the second idea. It ALWAYS lives
at number 2 of “Sentence Street”

If there are 2 verbs in a tense, it is
only the first verb that is affected
by this rule, the other will still go
at the end of the sentence.

1

EXAMPLES
1) Ich spiele FuBball
Normalerweise spiele ich FuBball

2) ich habe FuBBball gespielt
Letztes Wochenende habe ich FuBball gespielt

3) Ich werde FuBball spielen
Nichstes Wochenende werde ich FuRball spielen

EXTENDING SENTENCES using DENN and WEIL (because).

In German, there are TWO words we can use to say “because”.

“Denn” is the simplest of the two as it has no impact on word order.

| like to eat chips because chips are tasty

Ich esse gern Pommes, DENN Pommes sind lecker

As you can see, the subject (thing) and the verb (action) follow the exact same
word order as we would in English.

| think 1 am healthy because | eat lots of fruit.

Ich glaube, ich bin gesund, WEIL ich viel Obst esse.

In this example, the verb is sent to the END of the sentence.
“weil makes the verb run a mile

Using WEIL accurately will score you higher marks for complex structures —
but if in doubt, use DENN and follow English word order.
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Year 8 ICT Revision

What | Must Know e | ® | @

Define a variable

Define a constant

Define a algorithm

Identify components from an
algorithm

Label an IF / Else IF statement

Label a Forever loop

Label a Repeat until loop

Define a animation

Explain the purpose of a
keyframe




3

Year 8 ICT

What | Must Know

Explain the purpose of layers

Identify tools in Macromedia flash

Explain the function of RAM

Explain the function of ROM

Explain the differences between RAM and
ROM

Explain the purpose of the CPU

Explain how ICT can be used in different
industries

Explain how ICT can be utilised for people
who have special needs / mobility issues

Explain the differences between hardware
and software




What | Must Know

Identify examples of hardware
and software

Identify tools in Macromedia
Photoshop

Explain the term “airbrushing”

Explain possible implications of
airbrushing in social media




YEAR § COMPUTER SCIENCE REVISION

Use this knowledge organiser to revise for your assessment. Try-practice questions {use your white
book);

using Craig and Dave / The computer science tutor on YouTube to revisit topics;

INPUT DEVICE STORAGE DEVICE QUTPUT DEVICE
Keyboard Optical - CD /OVD Monitor
Mouse Magnetic Speakers
Touch Screen Hard Drive Headphones
Barcode Scanner Solid State Printer

OMR (Lottery / Multiple choice)
Joystick

RAM - holds currently running programs instructions and data - memory is volatile it is temporary
ROM - Boots up the PC and loads the O5- memory is non-volatile it is permanent

Differences: RAM is volatile / ROM non-volatile , RAM can be written to, ROM cant not be written
to and their jobs are different (see above for job info)

Virtual Memory — When RAM is full the hard disk drive can be used to work as RAM.

Cache — Stores the frequently used programs instructions and data (a very small, fast memory
located in the CPU, if used speeds up the FDE cycle as its less distance to travel)

% 5 ” Microphone

* setting someone to quiz you; Sensors

*  mazking flashcards to use when quizzing;

* graphic organisers {e.g Mind maps) WHAT ARE THE DIFFERENCES BETWEEN HARDWARE AND SOFTWARE?
Hardware is the physical components such as monitor, keyboard, mouse,

77 = printer.

Software is the non-physical components — programs and applications

MICROBIT & PROGRAMMING

1/0=Dhit 4 pits = 1 nibble 8 bits = 1 byte
1024 bytes = 1 kilobyte 1024 kilobytes = 1 megabyte

1024 megabytes = 1 gigabyte 1024 gigabytes = 1 terabyte

WHAT IS A VARIABLE?

A value stored in the program that can change

§$._._m>8=m._.>z-,
A value stored in the program that can NOT change

A network is one or more devices connected together to

<<:>,_.-m>z§
communicate

1 Shake Me £




YEAR 8 COMPUTER SCIENCE REVISION

" PHOTOSHOP

BASIC TERMINOLOGIES & KEY CONCEPTS

Airbrushing— when an image has been altered / improved in some way
Layers — holds each item separately so can move independently to the
others. Can be locked.

Hue / Saturation — colour tones

Main tools:

Liquify Lasso crop

spot healing brush clone stamp Magic wand
Patch quick selection

Pointer

Quick select
& Magic
wand

Spot
healing

Rubber

ANIMATION

BASIC TERMINOLOGIES & KEY CONCEPTS

Animation— A collection of static images with slight changes
and when played in qguick succession, they lock as if they are
moving.

Keyframes — holds an images inside of a layer

A

Layers — holds each item separately so can move
independently to the others. Can be locked.

Free

Transform YR erios
Pointer shape
Brush

Text

4 2 £ &
Vector
Pen

Deco

Rubber
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Year 8 Music Revision (Tempo

and Dynamics)

What | Must Know

Explain the use of TEMPO in performing and
composing

Identify BPM from ITALIAN TERMS

Identify ITALIAN TERMS from BPMs

Explain the use of a METRONOME in improving your
performing

Identify REAL TIME TEMPO CHANGES from their
abbreviations

Explain the use of DYNAMICS in performing and
composing

Identify DYNAMIC SIGNS from ITALIAN TERMS

Identify ITALIAN TERMS from DYNAMIC SIGNS

Describe the effect of adding a CRESCENDO to your
music

Describe the effect of adding a DIMINUENDO to your

music

Perform ‘Stitches’ (Plickers assessment)

Compose a ‘Bugle and drum fanfare’ using
MUSESCORE software (free from
https://musescore.com)




Real-Time Tempo Change Markings

Marking Abbreviation English

Accelerando accel. Gradually speed up
Gradually slow down (deliberate)

Rallantando rall. Gradually slow down (die away)

Ritenuto riten. Suddenly slow down
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gradually getting softer

s

gradually getting louder

Y2

Rubato rub. orrubato | Expressive speeding up and slowing down/sense of improv.

(dim.)

decrescendo (decresc.)
or diminuendo

crescendo (cresc.)

Tempo

Presto very fast (168-200 bpm)

Allegro fast and bright (120-168 bpm)
Allegretto moderately fast
Moderato moderately (108-120 bpm)
Andante at a walking pace (76—-108 bpm)

Adagio slow and stately (66—76 bpm)

Grave slow and solemn

Lento very slow (40-60 bpm)

Dynamic Sign Italian English
Ppep pianississimo Very, very soft.
pp pianissimo Very soft.
P piano Soft.
mp mezzo piano Moderately soft.
mf mezzo forte Moderately loud.
S forte Loud.
VA fortissimo Very loud.
biig fortississimo Very, very loud.
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Year 8 PE
Revision

What | Must Know

Know the rules of various sporting activities

Know what equipment is used in various
sporting activities

Know what playing area is used for various
sporting activities

Identify extrinsic injury risk factors for a
variety of sports

Identify intrinsic injury risk factors for a
variety of sports

Identify risk factors on a diagram (a picture of
a sporting activity)

Describe how an extrinsic risk factor can
cause injury to a performer

Describe how an intrinsic risk factor can cause
injury to a performer

Explain how a performer can reduce their
extrinsic injury risk factor

Explain how a performer can reduce their
intrinsic injury risk factor
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How to score top marks =
Quiziet will help you gain the basic knowiedge and your teacher will explain information to youin Sposting exmnple
ﬂgg.xuﬁcﬂﬂwﬂqwnﬁ””}aﬂnﬁﬁi:Bo.&.:nﬁmocn!nav«n The weather iz an extrinsic injury rizk The Cornell Method
ez b= ' JRENG e paee Rt ) factor for football. For example, the ) . ”...-flr.t!]?z&.
playing surface could be slippery duetoit pretndvivg fa st S inn
d having rained heavily before the match. A
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What | Must Know

Key Terms

Details of the Christian/Jewish
creation stories in Genesis.
Including a source of authority

How the creation story in Genesis
shows God’s omnipotence

Christian beliefs that stem from
the Genesis creation story

Christian practices that stem from
the Genesis creation story

Details of the Hindu creation
myths

Details of the Buddhist creation
myths

Details of the Sikh creation myths

a, b and c question structures
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The Christian and Jewish
Creation Story in Genesis

God’s omnipotence in the Genesis
creation story

Creation in Hinduism

Key Terms

v God creates everything
from nothing (ex nihilo)

v God creates the world in
6 days

v God rests on the 7th day
(Shabbat)

v God created humans in
his own likeness: “letus
make man in our own image
and let them have dominion
over all living creatures”.

v/ Humans are given
dominion (control) over the
earth and all living things.
v The first human, Adam,
is lonely, so God makes Eve
from his rib.

v The serpent (devil)
tempts Adam and Eve to
eat the fruit of the Tree of
the Knowledge of Good and
Evil, which God told them
not to eat

v Adam and Eve's sin is
punished by God. They are
banished from the Garden
of Eden and doomed to die.

v God creates the world out of
nothing (ex nihilo)

v God creates all living creatures
v God creates humanity

v’ God makes Eve from the rib of
Adam

v’ Brahma is the creator god

v Brahma works with Vishnu and Shiva
to maintain a cycle of universes.

v Time is not a straight line but eternal
cycles with no beginning and no end.

How the Genesis creation story
influences Christian beliefs

v Humans are made in the image
of God but are sinful and need
God's forgiveness.

v The purpose of humankind is to
have dominion over the earth which
is shown through stewardship on
God'’s behalf.

v The Buddha (founder of Buddhism)
refused to answer questions about
creation

v Buddhists believe that worlds follow
a cycle of decay, death and rebirth
(similar to Hindus)

How the Genesis creation story
influences Christian actions

Creation in Sikhism

v Christians perform their duty as
stewards of the earth looking after
God's creations for the next
generation.

v Christians pray for forgiveness
and confess their sins to a priest to
be forgiven.

v The universe was made by
Waheguru (god)

v Waheguru created the earth and all
forms of life on it.

v Before the creation there was no
earth, no sky, no sun and no life.

v Waheguru created everything by a
single word.

Abrahamic Religions: Judaism,
Christianity and Islam
Agnestic: a person who is not
sure if God exists

Atheist: a person who does
not believe in God

Dominion: control over
something, e.g. the natural
world

Indian Religions: Hinduism,
Buddhism and Sikhism
Omnibenevelent: all-loving
Omnipotent: all-powerful
Shabbat: the 7th day of the
week observed as a day of
rest by Jews

Stewardship: the responsibility
of humanity to manage the
world and animals for the
next generation

Theist: a person who believes
in a God

Genesis: 1st book of the Bible
that contains the Christian
and Jewish creation story
Sin: an act of doing
something against God's will.
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Question Structures

Practice Questions

Section 1

Complete the 10 different sentences
using your knowledge of the Key
Terms

Section 2

(a) Outline 3 ways
[3 marks]

Firstly...
Secondly...
Finally...

(b) Describe 2 ways_ is different
to_

[4 marks]

Firstly..., whereas...

Secondly..., whereas...

(c) Explain 2 ways
[5 marks]

You must support your reasons
with evidence from the Bible.
Firstly..., because...
Therefore/For example...
Secondly..., because...
Therefore/For example...

This is supported by...,
because/therefore/this means...

Section 2

(a) Outline 3 ways that participate in the Genesis creation
story [3 marks]

Firstly, God gives humanity dominion over all creatures and the
earth.

Secondly, humanity has a duty to be stewards over the earth by
taking care of it for the next generations.

Finally, woman is created using the rib of the man Adam.

(b) Describe 2 ways that the Genesis creation story is
different to scientific theories

[4 marks]

Firstly, the Genesis creation story describes the world being
created in 6 days, whereas the theory of evolution shows us that
the universe was formed over 13.8 billion years.

Secondly, the genesis creation story describes God making all
living creatures, whereas the theory of evolution suggests that all
living creatures evolved from more simple life forms.

(c) Explain 2 reasons why Christians believe Jesus saves
them from their sins [S marks]

You must support your reasons with evidence from the
Bible.

Firstly, Christians believe Jesus saves them from their sins,
because in life people can separate themselves from God.
Therefore, they need God's forgiveness which is given to them
through Jesus’ death on the cross.

Secondly, Christians believe Jesus saves them from their sins,
because they believe all people are born with original sin. This
means that they share in the first sin of Adam and Eve. This is
supported by the book of Genesis which states that “God
banished them from the Garden of Eden”

Because of their original sin. Therefore all their descendants are
born outside of Eden.

Section 2

(a) Outline 3 ways God created the world
in the book of Genesis [3 marks]

(a) Outline 3 ways the Genesis creation
story shows God’'s omnipotence. [3
marks]

(a) Outline 3 ways the Sikh creation story
is similar to the Genesis creation story [3
marks]

(b) Describe 2 ways the Sikh creation
story is different to the Hindu creation
story [4 marks]

(b) Describe 2 ways the Genesis creation
story is different to the Hindu ideas of
creation. [4 marks]

(b) Describe 2 ways the Genesis creation
story is different to the theory of evolution
[4 marks]

(c) Explain 2 ways a Christian’s beliefs
and actions are influenced by the Genesis
creation story. [5 marks]

You must support your reasons with
evidence from the Bible.




